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Consider the following pairs |

4.
Srte of Ashoba's Location in the
mafor rock edicte State of
1. Dhauli — Ddisha
2. Erragudi — Andhra Pradesh
4. Jaugada — Madhya Pradesh
4. Kalsi — Karnataka
5!
How many pairs given above are gorrectly
matchad 7
(&) Only one pair
(b)) Only twg pairs
¢} Only three pairs
(d) All four pairs
Consider the following pairs :
King Dyvnasiy
1. Nannuka — Chandela
2. Jayashakti — Paramara
3. Nagabhata Il — Gurjara-Pratiharg
4. Bhaja — Rashtrakuta
B.
How many pairs Biven above are correctly
matched 7
'al  Only one pair
B Only two pairs
‘el Only three pairs
id) Al four pairs
Which one of the following statements about
Sangam literature in ancient South India is
Correct ?
{a) Sﬂ-ﬂgﬂ-m poems are d.ﬂ'-"l:l.'ld of any
reference to material culture,
{b) The social classification of Varna was
known to Sangam poets.
t]  Sungam poems have no reference o
warrior ethic. ical
fd) Sangam literature refers to magic
forces as irrational,
{(3-C)

“Yogavisistha” was translated into Persian by
Nizamuddin Panipati during the reign of :
fa)  Akbar
(b}  Humayun
{c} Shahjahan
(d) Aurangzeh
The world's second tallest statue in sitting
pose of Ramanuja was inaugurated by the
Prime Minister of India at Hyderabad
recently. Which one of the following
statements correctly represents the teachings
of Ramanuja ?
(a) The best means of salvation was
devotion,
(b) Vedas are eternal, self-existent and
wholly authoritative.
(e} Logical arguments Were essential
means for the highest bliss,
dr  Salvation was tg be obtained through

meditation,

The Prime Minister recently inaugurated the
new Cireuit House near Somnath Temple at
Veraval. Which of the following statements
are correct regarding Somnath Temple ?

1 Sm:g.nat.h Temple is one of the Jyotirlinga

£,

2 A description of Somnath Tem Ple was
given by Al-Biruni

Fresent day ¢ 1
Was done by President 5 Ra.dh&kriﬂimp x

Bal ]
o L::-t,-tbe Correct answer using the code Eiven

la)  1andsz only
(b) 2 and 3 pnly
el landsg only
d 1,2andg
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Which one

of the following stateme

fila best | .
deseribes the role of B cells and T cells in the
human body 7
(a) They protect the body fram

environmental allergens,
(b}  They alleviate the body's pain and
inflammation.
(e}  They act as immunosuppressants in the
body.
(d)  They protect the body from the diseases
caused by pathogens.
Consider the following statements :

1. Other than those made by humans,
nanoparticles do not exist in nature,

10.

2. Nanoparticles of some metallic oxides
are used in the manufpcture of some
cosmetics,

4.  Nanoparticles of gsome commercial
products which enter the environment
are unsafe for humans.

Which of the statements given above isfare

correct 7

fal 1 only

(b} 3 only

(e} land2

{(dl 2Zand3

{5-C)

VGYH-U-FGT

Consider the following statemengs .

DMNA Barcoding can be a tool to

1. assess the age of a plant or animal

9 distinguish among species that Jook
alike

3. identify undesirable animal or plant

materials in processed foods.

Which of the statements given above igfare

correct ?

(a) 1only

(br 3only

{e) land?2
id) 2and3
Consider the following :

1 Carbon monoxide
2. Nitrogen oxide -
3. Ozone

4, Sulphur dioxide

~ Excess of which of the above in

environment is‘are cause(s) of acid rain ?
(a) 1,2and 3
(b} Zand4 only

(el 4 only

(d}

1,3 and 4

the
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11.

12,

13.

VGYH-U-FGT

Consider the tollowing statements -

1. “ig,h -:'|t1l_IdH Primarily reflect W 14,
radiation and egq) the surface of ¢,
Earth.

2. Low clouds have a high absorption of
infrared radiation emanating from the
Earth’s surface and thus cayge Warming
effect,

Which of the statements given aboye is/are

correct ?
tal 1 only
(b)  2only
(¢} Both1and2
{d)  Neither 1 nor 2
Consider the following statements :
1.  Bidibidi is a large refugee settlement in
north-western Kenya.
2. Some people who fled from South Sudan
civil war live in Bidibidi, 15.
ﬁ/ Some people who fled from civil war in
Somalia live in Dadaab refugee complex
in Kenya.

Which of the statements given above isfare

correct ?

(a) land?2

(b} 2 only

e} 2and3i

(d) 3 only

Congider the following countries -

1 Armenia

2., Azerbaijan

Croatia

4/ Romania

5.  Uszbekistan

Which of the above are members of the

Organization of Turkic States ?

(a) 1,2and4 '

(b) land3a

(¢} 2ands

d) 3. 4ands

(R

Consider the tollowing Stateme

Ny -
1. Gujarat has the largest solar park i,
India.
2. Kerala has a fully' zolar powered

International Airport.

3. Goa has the largest floating solar
photovoltaic project in India.

Which of the statements given above isfare

correct 7

{a) land?2
(b} 2 only
ic} land3
{d} 3 only

With reference to the United Nations
Convention on the Law of Sea, consider the
following statements -

1. A coastal state has the right to estahlish
the breadth of its territorial sea up to a
limit not exceeding 12 nautical miles,
measured from baseline determined in
accordance with the convention.

2. Ships of all states, whether coastal or
land-locked, enjoy the right of innocent
passage through the territorial sea

3 The Exclusive Economic Zone shall not
extend beyond 200 nautical miles from
the baseline from which the breadth of
the territorial sea is measured,

Which of the statements given above are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(e} 1and3only
d) 1,Zanda



16.

17.

Which one of the mrlnwi“g stateme

nis I""-"Ht

raflects
ects Izlanda,

the issue with Senkaky
sometimes mentioned in the news i

ta) It 15 generally believed that they are
artificial islands made by a country

around South China Sea

(b} China and Japan engage in maritime
disputes over these islands in Rast

China Sea,

(c) A permanent Ameriean military base
has been set up there to help Taiwan to

increase its defence capabilities.

(d) Though International Court of Justice
declared them as no man's land, some

South-East Asian countries claim them.,

Consider the following pairs :

Country Important reason for being
in the news recently
L. Chad  — Setting up of permanent
military base by China
2. Guinea — Suspension of Constitution
and Government by military
3. Lebanon — Severe and prolonged

economic depression

Suspension of Parliament
by President

4. Tunisia —

How many pairs given above are correctly
matched 7

(a)  Only one pair
(b)  Only two pairs
fe)  Only three pairs
(d) Al four pairs
VGYH-U-FGT (8-

18.

19.

c)

Consider the following pairs -

Region often mentioned C’”m!rj-'
in the netws
. Anatolia —  Turkey

2. Amhara - Ethiopia

3. Cabo Delgado — ' Spain

4. Catalonia — Italy

How many pairs given above are carrectly

matched 7

ia) Only one pair

(b) Only two pairs

(e} Omnly three pairs

(d) Al four pairs

With reference to Indian laws about wildlife

protection, consider the following statements |

1. Wild animals are the sole property of
the government.

2. When a wild animal is declared
protected, such animal iz entitled for
equal protection whether it is found in
protected areas or outside,

3.  Apprehension of a protected wild animal
becoming a danger to human life is
sufficient ground for its capture or
killing.

Which of the statements given above is/are

correct ?

(a) 1and?2
2 only

e} land3

{d) 3 only

Certain species of which one of the following

organisms are well known as cultivators of

fungi 7

{a)  Ant

(b}  Cockroach

de)  Crab

(d)  Spider
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21.

22.

In India, which one of the following compiles
information on industial disputes, closures
retrenchments  and lav-offs  in 4

]

. factories
employing workers

(a) Central Statistics Office

(bl Department for Promotion of Industry
and Internal Trade

\E) Labour Bureaun

(dl National Technical Manpower
Information System

In India, what is the role of the Coal

Controller's Organization (CCO) ?

1 CCO is the major source of Coal
Statistics in Government of India.

g

It monitors progress of development of
Captive Coal/Lignite blocks.

3. It hears any ohjection to the
Government's notification relating to
acquisition of coal-bearing areas.

4, It ensures that coal mining companies
deliver the coal to end users in the
prescribed time.

Select the correct answer using the code given
below :

{a) 1,2and3
(b) 3and4only
fe) 1land2only
(d) 1,2andd

If a particular area is brought under the Fifth
Schedule of the Constitution of India, which
one of the following statements best reflects
the CONSEQUENCE of it ?

(a) This would prevent the transfer of land
of tribal people to non-tribal people.

(b} This would create a laeal self-governing
body in that area.

(¢) This would convert that area into a
Union Territory.

{d) The State having such areas would be

declared a Special Category State.

26,

24.

Consider the |'r:'g||;wi|-|H Etatemants

1, 'I'hf.-llntlin Sanitation Coalition is
plrn:!nrm to  promote ,_-,m,mn”hl:_
samtation m|[! i5 funded by  the
Government of India and the Warld
Health Organization.

a, The National Institute of Urban Affairs
is an apex body of the Ministry of
Houging and Urban Affairs  in
Government of India and provides
innovative solutions to address the
challenges of Urban India.

Which of the statements given above is/are

correct 7

(a) 1only

fb) 2only

ic) Bothland?2

(d) MNeither 1 nor 2

Which one of the following has been

constituted under the Environment

{Protection) Act, 1986 ?

(a3  Central Water Commission

ib)  Central Ground Water Board

(e} Central Ground Water Authority

(d) National Water Development Agency

With reference to the *“United WNations

Credentials Committee”, consider the

following statements :

1. It is a committee set up by the UN
Security Council and works under its
supervision.

2 It traditionally meets in March, June
and September every year.

It as;:ssea the credentials of all UN
members before submitting a report to
the General Assembly for ﬂpprwaﬁrj}

Which of the statements given above isfare

correct 7

(a}) 3 only
(b}  1ands
(e} 2andg
id) land2

(11-C)

VGYH-U-FGT
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Which one of the following statements best

describes the ‘Polar Code' 7

9.

{a) It is the international o

ode of safety for
ghips operating in polar waters

(b) It is the agreement of the countries
around the North Pole regarding the
demarcation of their territories in the

polar region

(e} It is a set of norms to be followed by the
countries whose scientists undertake
research studies in the North Pole and

South Pole.

(d) It is a trade and security sgreement of
the member countriezs of the Arctic

Council.

With reference to the United Nations General
Assembly, consider the following statements :

1. The UN General Assembly can grant
observer status to the non-member
States.

2. Inter-governmental organisations can
seek observer status in the UN General
Assembly.

in the UN
maintain

3. Permanent Obgervers
General Assembly can
missions at the UN headquarters.

Which of the statements given above are
correct 7

tal 1land 2 only

(b}  2and 3 only

(¢} 1land3anly

(dl 1,Zand3

(13-C)

With reference to the “Tea Board"” jn India

congider the following statements
1. The Tea Board is a statutory body,

2. It is a regulatory body attached wo the
Ministry of Agriculture and Farmers
Weltare,

3. The Tea Board's Head Office ia situated

in Bengaluru.

4. The Board has overseas offices at Dubai
and Moscow,

Which of the statements given above are

correct 7

(a) land3
s

by Z2and4
i) Jand4d
idi land4

Which one of the following best describes the
term “greenwashing” ?

{a)] Conveying a false impression that a
company’s products are eco-friendly and

environmentally sound

of
costs

ecological/
in the Annual
Financial Statements of a country

b} MNon-inclusion

environmental

ic) lgnoring the disastrous
CONSeqUences

infrastructure development

Making mandatory provisions for
environmental costs in a government
project/programme

ecological

while undertaking

(d}
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Consider the following statements -

31.
1. T'I-IHI"-T- monetary Dl.l].!ili.‘_\' of US F -
Reserve could lead to capital ﬂlgh:fﬂﬂll[
2 Cﬂpi!ﬂ.{ flight may increase the interest
costof irma with. exintng Extorna
Commercial Bnrrl:l-winga (ECBs).
3. Devaluation of domestic currency
decreases the currency risk associated
Which of the statements given abave are
correct 7
{a) 1and2only
(b} 2and 3 only
(¢) 1and3 only
I (d} 1,2and3
32, Comnsider the following States :
,' 1. Andhra Pradesh
2.  HKerala
4.  Himachal Pradesh
4. Tripura
How many of the above are generally known
, as tea-producing States ?
f {a) Only one State
| IQA Only two States
] (e}  Only three States
(d) All four States
33, Consider the following statements :
1. In India, credit rating agencies are
regulated by Reserve Bank of India.
2. The rating agency popularly known as
ICRA is a public limited company.
3. Brickwork Ratings is an Indian credit
rating agency.
Which of the statements given above are
correct ?
(a) 1and 2 only
(b} 2and3g only
(¢} 1and3only
(d) 1,2and3
VBYH-U-FGT

(15-C)

With reference to the ‘Banks Board Bureau
(BBBR), which of the following statementa are

correct T

1 The Governor of RBI is the Chairman of
BBBE.

9 BBB recommends for the selection of
heads for Public Sector Banks.

9. BBB helps the Public Sector Banks in
developing strategies and capital raising

plans.

Select the correct answer using the code given
below :

(a) 1land2 only
(b} 2 and 3 only

(¢} 1land3only

) 1,2and3

35. With reference to Convertible Bonds, consider

the following statements :

1. As there is an option to exchange the
bond for equity, Convertible Bonds pay
a lower rate of interest.

2.  The option to convert to equity affords
the bondholder a degree of indexation to
rising consumer prices.

Which of the statements given above is/are
correct 7

(a) 1only
(b) 2 only
(¢} Both1and2

id) Neither 1 nor 2
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nsider the following
ﬁ' Ca

a8,
1. Asian Infrastructure Tlﬂ-wtun.-ut Bank

2 Missile Technology Contrg) Regima

3.  Shanghai Cooperation Organisayioy

India is 8 member of which of the abgye 7

@ land2 only

39,

(b} 3 only

ic) 2 ﬂ.ﬂd 3 Dll].l"'

id) 1,2andd

g7. Consider the following statements ;

1. Vietnam has been one of the fastest
growing economies in the world in the
recent Vears.

2 Vietnam is led by a multi-party political
system.

3/  Vietnam's economic growth is linked to
its integration with global supply chains
and focus on exports,

40,

4. For a long time Vietnam's low labour
costs and stable exchange rates have
attracted global manufacturers.

5/ Vietnam has the most productive

|

i e-service sector in the Indo-Pacific
region.

Which of the statements given above are

correct 7

{a) 2andgyg

(b) 3ands

(¢) 1,8and4

(d) land2

VGYH-U-FGT (17-C)

In Indig i
v Which ] i i
reaponahble 1 ”m. I.'F the !“"rw'.”'l'r‘ 8
¥ L1l OF malntaining Price stability by
controlling infMation 7 i

ta}  Department of Consumar Affairs

(b)  Expenditure Management Commission

(el I':innru.-m] Btability and Development
Couneil

id)  Reserve Bank of India

With reference to Non-Fungible Tokens
(NFTs), consider the following statements :

1. They enable the digital representation
of physical assets.

2, They are unique cryptographic tokens
that exist on a blockchain.

3. They can be traded or exchanged at
equivalency and therefore can be used
a8 a  medium of commercial
transactions.

Which of the statements given ahbove are

correct 7
ta) 1and2only
(b) 2and 3 only
te) 1and 3 only
Jdi 1,2and3
Consider the following pairs :
Reservoirs States
1. Ghataprabha — Telangana
2. Gandhi Sagar — Madhya Pradesh
3. Indira Sagar — Andhra Pradesh
4. Maithon —  Chhattisgarh

How many pairs given above are not correctly

matched ?

ta)  Only one pair
(b} Only two pairs
el Only three pairs
(d)  All four pairs
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In the Governmeng of India

4. functions of Provinejg] (ii"'.'p-l::;l:m?:: a, lt]su 14,
:1:i'|.'|.dud in-m. "Hm-;;_nn.‘_,,d.. & "'I‘mm‘ﬁ“::::
subjects. W h.l.tlh U-T the following were 1-“?ut.ng1
as “Reserved” subjects ?

i Administration of Justjce
3 Local Self-Government
3 Land Revenue
4 Palice
Select the correct answer using the code doui
below :
jal 1,2and3
(b) 2,3and4
J} (c) 1,3and4d
1 d) 1,2and4
I, ¢ In medieval India, the term “Fanam” referred
to:
ia) Clothing
(b} Coins 45.
e}  Ornaments
{d) Weapons
4. Consider the following freedom fighters :
1.  Barindra Kumar Ghosh
2. Jogesh Chandra Chatterjee
2" Rash Behari Bose
Who of the above was/were actively associated
with the Ghadar Party 7
fa) 1land2
(b) 2 only
e} land3
/'-‘.’d'] 3 only
YGYH.U-FGT (19-C)

With referonc
c0. 10 the PrOposaly op o

Miasion, consider the I'!;Hnwinl{ whai b
Aleme
i

T
i The Constituent Assembi)y Wil
3 HId hanyge

members nominated by the p

the

FOWine al

Assemblies as well

States.

an !.r:ll:H'ﬂ-l'I,.-

Any Province, which is not prepared 4,
pecept the new Constitution would haye
the right to sign a separate agreement
with Britain regarding its future status.

Which of the statements given above isfare
correct 7

(a) 1only

{(b) 2 only

(c) Both1and?2
(d} Neither 1 nor 2

With reference to Indian history, consider the
following texts :

'1.  Nettipakarana
2. Parishishtaparvan
&

3.~ Avadanashataka

» 4 Trishashtilakshana Mahapurana

Which of the above are Jaina texts 7

(a) 1,2and3
(b} 2 and 4 only
(e) 1,3and4
(d) 2,3and4




6. With reference to Indian history

Congider (g | 48.
following pairs :

Historical person Known o
L]

1. Aryadeva — Jaina scholar
2. Dignaga — Buddhigt scholay
5. Nathamuni — Vaishnava scholar i

How many pairs given above are correctly
matched ?

(a) None of the pairs
b}  Only one pair
i¢) Only two pairs
(&) All three pairs
¢7. With reference to Indian history, consider the
following statements :

1. The first Mongol invasion of India
happened during the reign of Jalal-ud-din

With reference to Indian higyg,.,

following were known ag "Kllla‘l?il}whn of the
AR

{m) Arab merchants :

(b} Qalandars

(e} Persian calligraphists

ig}'" Sayyids

With reference to Indian history, consider the
following statements :

1. The Duteh established their
factorieafwarehouses on the east coast
on lands granted to them by Gajapati
rulers.

a. Alfonso de Albugquergque captured Goa
from the Bijapur Sultanate.

3! The English East India Company
established a factory at Madras on a
plot of land leased from a representative
of the Vijayanagara empire.

Which of the statements given above are
correct 7

fa) 1and2only

(b) 2and 3 only

(e} 1and3only

= d) 1,2and3
Khalji.
: : : i 50. According to Kautilya's Arthashastra, which
2. Dwuring the reign of Ala-ud-din Khalji, one of the following are correct ?
Mongol assault marched up to Delhi and AT person could be a slave as a result of a

besieged the city.

4. Muhammad-bin-Tughlaq temporarily lost
portions of north-west of his kingdom to
Mongols,

Which of the statements given above is/are

correct 7
(a) land2
(b) 2 only
) 1and3
{d) 3 only
SYHyFaT (21-C)

judicial punishment.

2. If a female slave hore her master a son,
she was legally free.

3. If a son born to a female slave was
fathered by her master, the son was

entitled to the legal status of the
master's son,

Which of the statements given above are
correct ?

(a) 1and 2 only
(b} 2 and 3 only
(¢} 1and 3 only

(d)y 1,2and3




“Climate Action Tracker” whic .
gl = ik erl which monitors the | 3. “If rainforests and tropical ¢
3 v & -. Faw . ¥}
emis lll-]ﬂ ; reduction  pledges of different lungs of the Earth, then h":‘:m-. e i
countries is a : function a8 its kidneya” Wh'.rh?r Watlang,
L T
(a) Database created by coalition of following functions of wetlands R I the
FEschIuil CEERHIRS LR the above statement 7 : rellects
(b} Wing nf:l“Inl;ematinnnI Panel of Climate (a) The water cycle in wetlands Y
Change gurface rl'|_1hu|]'I subsoil percolation 1"-“5
(¢} Committee under “United Nationa evaporation,
I'Tﬂnu}'ﬂ;ﬂ'l"k Convention on Climate (b) Algae form the nutrient base upon
Change which fish, crustaceans, molluses, birda,
@) Agency promoted and financed by reptiles and mammals thrive.
United 13217;::SH 3 Envirmmleut %) Weitlinds' iplav. & vitel . vola. il
g 4 =3 maintaining sedimentation balance and
; . soil stabilization.
2 Consider the following statements :
: (d) Aguatic plants absorb heavy metals and
1. “The Climate Group” is an international Skt
non-profit organization that drives
dimats  action by buicmg . ‘ares 54, In the context of WHO Air Quality
and runs them. :
e Guidelines, consider the following
2  The International Energy Agency in peoll S G
partnership with the Climate Group
launched a global initiative “EP100", 1. The 24-hour mean of PM, . should not
_ : exceed 15 pg/m® and annual mean of
3. EPI00 brings’ together leading PM,, . should not exceed 5 FSJ'IIHH.
companies committed to driving 5
innovation in energy efficiency and 2. In a year, the highest levels of ozone
increasing  competitiveness  while pollution occur during the periods of
delivering on emission reduction goals. inclement weather.
4  Some Indian companies are members of 3. PM,, can penetrate the lung barrier
EF100. and enter the bloodstream.
5 The International Energy Agency is the 4. Excessive ozons in the air ean- trigger
Secretariat to the “Under2 Coalition™. e
Which of the statements given above are Which of the statements given above are
correct 7 correct 7
la) 1,2,4and5 (a) 1,3and4
b) 1,3 and 4 only (b) 1 and 4 only
(e} 2,3 and5 only (¢} 2,3and4
d) 1,2,3, 4and5 (d) 1and2only
BYHUFGT (23-C)




Wwith reference ta “Guochi*
u 1 Bomet [E] PR § .
rl'l':""'-T""':“""E in the News, Consideyr thi= i'r1|:||1:'l;n r it neen _“1- s following Bra Mk rogsp, ik
gtatements | ¥ plants 7 Lxing
1. Itis afungus. Alfalia
g [t grows in S0me Hi]’l‘lrl'.ltﬂ_‘r'ﬂﬂl forest Areas, s Eoki
s [t is commercially cultivated 4, Chickpen
& r : ; n  the
Hlﬂ-'lﬂlﬂ} an fml.hl”ﬂ of “'l:lﬂh-u“ atern 4. Clovar
India.
5 P y
which of the statements Eiven above isfaro e e
carrect 7 ' 6. SBpinach
(a) 1only Select the correct answer using the code given
ib) 3 only below -
@) land2 {a] 1,3 and 4 only
(dr 2and3 (b) 1,3, 5 and 6 only
(e} 2,4, 5and 6 only
% With reference to polyethylene terephthalate,
the use of which is so widespread in our daily d) 1,2,4.5and6
livez. consider the following statements :
1. It fibres can be blended with wool and 59. “Biorock technology” is talked about in which
cotton fibres to reinforce their properties. one of the following situations ?
2. Containers mad'.} 7t Tan e deec_to (a) Restoration of damaged coral reefs
store any alcoholic beverage.
3. Bottles made of it can be recycled into ,V,ﬂﬂ' Development of building materials
other products. ' using plant residues
4 Articles qjac}e of it can be easily dmpa?ed e} Identification of - for
of by incineration without causing . )
greenhouse gas emissions, exploration/extraction of shale gas
Which of the statements given above are (d} Providing salt licks for wild animals in
correct ? forests/protected areas
fa) land3
(b) 2and4 60. The “Mivawaki method” is well known for
() landy the :
fd) 2and3g (a) Promotion of commercial farming in
arid and semi-arid areas
i :
Which of the following is not a bird ? (b) Development of gardens using
@ Goldey Mshseer genetically modified flora
Ih) : e ;
b) I"dl&n Nighl]ar (c) Creation of mini forests in urban areas
Spoonbij| ig,] Harvesting wind energy on coastal
] areas and on sea surfaces
(25-C) »
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Consider the follow

gl g : -
| Aarogya Sety
g/ CoWIN
q Digilocker
4 DIESHA
which of the above are byjlt on top of
ﬂ}-.en-s:rurfl? digital platforms ¥
@) 1andZonly
) 2 3and 4 only
i) 1,3 and4 only
d 1,2, 3and4
@ With reference to Web 3-0, consider the v,
following statements :
1. Web 30 technology enables people to
control their own data.
2 In Web 30 world, there can be
blockehain based social networks..
3. Web 30 is operated by users collectively
rather than a corporation.
Which of the statements given above are
correct 7
‘a)  1and 2only
b} - 2 and 3 only
' 1and 3 only
W 1,2and3
gy (27-C)

With roferonce Lo Bl
nre

(Bnal)", consider the I'-:.1|f:,-ﬂ.,,"H i N Baryiey

BLErmnn gy .
1. SansS buyers can  custsmise the

iRy

interfoce and can changn data fisla
13x

2. SaaS

through their mobile devices,

UREers CAn  access their At
¥ nta

a. Outlook, Hotmail and Yahoo! Mail are
forms of Saas.

Which of the statements given above are

correct 7

(s} 1andZ2only
(b} 2 and 3 only
(e} 1land3only

(dd 1,2Zand3

Which one of the following statements best
reflects the idea behind the “Fractional
Orbital Bombardment System” often talked
about in media ?

{a) A hypersonic missile is launched into
space fo counter the
approaching the Earth and explode it in

space.

asteroid

(b) A spacecraft lands on another planet
after making several orbital motions,

te) A missile is put into a stable orbit
around the Earth and deorbits over a
target on the Earth.

(d) A spacecraft moves along a comet with
the same speed and places a probe on its

surface,



Which one of the ﬁr”nwing 18 the context §
B m

hich the term “qubig '
o rm “gqubit” {5 mentioned 7

al  Cloud Servicps
Quantum t"nmp'ulirm

Visible Light Communieation
Technologies

Wireless Communicatjon Technologies

Consider the fo ﬂuwing

technologies

communication

: Closed-circuit Television
2 Radio Frequency Identification
% Wireless Local Area Network

Which of the above are considered
Shori-Range devices/technologies ?

{a} 1and2only

bl 2 and 3only

1and 3 only

cl
@ 1.22and3

Consider the following statements :

L Biofilms can form on medical implants
within human tissues.
Biofilms can form on food and food
procegsing surfaces,

Biofilms can exhibit antibiotic

registance,

Which of the statements given above are
tarrect 7

‘W lando only

) 2and 3 only

I.|_-|

1and 3 only

d) L, Zand 3

'ﬁm'u'FGT

68,

(28-C)

Congider the l'nllqu,-,-i"" TP
"TLA . iy Fig
L S ey

of probiotics :
1 Probiotics are made

of bath h;u—.lnr;.l. mnd
- ATy

The organisms in probiotics nre
foods we ingest hbut they
naturally oceur in our gut,

Fovuamg in
do  not

Probiotics help in the digestion of milk
BUgArs.

Which of the statements given ahove is/are
correct 7

(a} 1loenly
ib)  Zonly
fecd land3
(d) Zand3

In the context of vaccines manufactured to
prevent COVID-19 pandemic, consider the
following statements :

1. The Serum Institute of India produced
COVID-19 wvaccine named Covishield
using mRNA platform.

Sputnik V vaceine is manufactured using
vector based platform.

COVAXIN is an inactivated pathogen
based vaccine,

Which of the statements given above are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only

(e} 1and 3 only

,._',Fu/lpﬂﬂndﬂ
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i &

. Ifamajer solar storm (sqlgy flare

‘ | reaches the
following are tho
effectz on the Earth 7

Earth, which of the
Possib]pe

1 GPS and navigation s¥stema could fail

Teunamis

L ==

could epceur g equatorial
regions.

q Power grids could be damaged.

4 Intense auroras could occur over much

of the Earth.

% Forest fires could take place over much
of the planet.

6. Orbits of the aatellites
disturbed.

could be

=1

Shortwave radio communication of the
aircraft flying over polar regions could
be interrupted.

Select the correct answer using the code given
below

@) 1,2, 4and5 anly
b} 2,35 6and? only
el

1,3, 4,6 and 7 only

@ 2,8, 4,6, 6and 7

“ETHLU'FGT

71.

72.

73 .

T4.

Among the follow | fng CrOps, wi
v Whiel, r

mosl impoartant J”'”"”’I"lﬂnn R e g

Ll k1 [

; Siren
methane and nitrous oxide 7 G bt

(a)  Cotton

(bl Rice

(ol Sugarcans
(d) Wheat

“System of Rice Intensification™ of cultivation
in which alternate wetting and drying of rice
fields is practised, results in :

1. Reduced seed requirement
2. Reduced methane production
3. 'Reduced electricity consumption

Select the correct answer using the code given
below :

(g’ 1and 2 only
(b} 2and3enly
ic) 1and3only
(d} 1,2and3

Which one of the following lakes of West

Africa has become dry and turned into a
dezert 7

(a) Lake Victoria
(b)  Lake Faguibine
(e}  Lake Oguta
(dl~ Lake Volta

Gandikota canyon of South India was created
by which one of the following rivers 7

(a)

(b)

Cauvery
Manjira
{c)  Pennar

(dl, Tungabhadra




-

Congider the following pajyy -

Peak Mountaing
1. Namcha Barwa Garhwal Himalaya
7 Nanda Devi — Kumagn ]-Iinm[ﬂ;;ra
3. Nokrek —

Sikkim Himalaya
Which of the pairs given above igfare

correctly
ma[{‘hfd 7

(a) landZ
(b} 2only
jet land3d
id) 3Jonly

The term “Levant” often heard in the news
roaghly corresponds to which of the following
regions 7

Region along the eastern Mediterranean
shores

b} Region along North African shores
stretching from Egypt to Moroceo

t)  Region along Persian Gulf and Horn of
Africa

The entire coastal
Mediterranean Sea

inl

areas  of
Consider the following countries -

Azerbaijan

Kyrgyzstan

Tajikistan

& Turkmenistan

1 L!EbEhi&tan

Which of the above have borders with
Mistag 7
LiZands only
12,3 and 4 only
% 4and5 only
12,3, 4and 5
%m-u.,:m

i
2.

Lo

i.&||
1)

|

VB.  With reference to Indin, consider 4
11L]

f
statements : Wllowing

1. Monazite ja a Bource of ryra earths

2. Monazite contains thorium,

3. Monazite oecurs naturally in {he Bhitire
Indian coastal sands in India

d, In India, Government bodies only cap

Process or export monazite,

Which of the statements given above are
correct ?

fa) 1,2and 3 only

(b} 1,2 and 4 only
(e} 'aand4nn]y
'E:ij/ 1,2,3and 4

79. In the northern hemisphere, the longest day
of the year normally occurs in the -

)

First half of the month of June

(b} Second half of the month of June
(e} First half of the month of July
(d)  Second half of the month of July

80. Consider the following pairs -
Wetland / Lake Location

1. Hokera Wetland — Punjahb
2. Renuka Wetland Himachal Pradesh
3. Rudrasagar Lake — Tripura
4. Sasthamkotta — Tamil Nady
Lake

How many pairs given above are correctly
matched ?
{m)
(b}

tel

Only one pair
Only two pairs

Only three pairs

(33-C)

(d)s All four pairs
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By

g Congider the following statementg ;
fi

Which of the statements given above is/are

correct 7

& 1and 2 only
b 1,2and4
ich 3 and 4 only
d) 3 only

L With reference to India, consider the following
flatempnts -

L Bar Councils have the power to lay
down  the rules relating to legal
Education and recognition of law
tolleges,

Which of the statements given above islare
>

" 1only

" 2 only

E.]E Both 1 ang 2

ol
Meegy

Pursuant to the report of H N,
Committee, the (

1971 was passed,
The Constitution

Supreme Court and the

punish for contempt of themselves,

The Constitution of India defines Ciwil
Contempt and Criming] Contempt,

In India, the Parliament is vested with
the powers to make

laws on Contempt
of Court.

Government law officers and legal firms
are  recognised as advocates, but

corporate lawyers and patent attorneys

are  excluded from recognition

as
advorates.

. Sanyal
“ontempt of Courts Act,

of Indig empowers the
High Courts to

B3, Consider the following Statemeny, .
: hil i i
1 A _] I amctnl:lmg the L:Jnhm.ul,u.nn
requires a prior munrnmi:ndat'mn of the
President of Indja. S
2. When a Constitution Amendmany Bill is
presented to the President of India, it is
obligatory for the President of India tq
give histher assent,
3.

Neithey 1 nor 2

A Constitution Amendment Bill must ha
passed by both the Lok Sabha and the
Rajya Sabha by a special majority and
there is no provision for Joint sitting,

Which of the statements given above are
correct ?

{a)  1and 2 only
()  2and 3 only
tc) 1and 3 only
(d 1,2and3

Consider the following statements :

1. The Constitution of India classifies the

ministers into four ranks viz. Cabinet
Minister, Minister of State  with

Independent Charge, Minister of State
and Deputy Minister.

o The total number of ministers in the

Union Government, including the Prime
Minister, shall not exceed 15 percent of

the total numhber of members in the Lak
Sabha,

Which of the statements

Eiven above is/are
correct ?
tal 1 only
ib) 2 only

r{;,}.f" Both 1 and 2
(d} Meither 1 nor 2



i which of the ﬁ:ﬂm-,-:ng I8/are the

exclugivp
power(s) of Lok Sabha » i

1. To ratify the declaration of Emergenc
= J-'

2. To pass a motipy

| of no-confidence
against the Counci] of Ministers
3. Toimpeach the Pregident of India

Select the corTect answer using the code given
below :

(&) 1and 2

() 2only

¢y land3

__.-‘l
‘15)‘ " Sonly

With reference to anti-defection law in India,
consider the following statements

1L The law specifies that a nominated
legislator cannot join any political party
within six months of being appointed to
the House,

The law does not provide any
time-frame within which the presiding
officer has to decide a defection case.

Which of the statements given above is/are
Lorreet 7

1 only

i) 9 ﬂl'l].}"

]

Both 1 and 2

) Neither 1 nor 2

m"”‘“*m

a7,

Consider the I'u:]uwin“ Atatum,
O by -

1. Attorney Genera| of Indig

rgg = .
General of India are the .‘14:1:[-.”;_.,

anly Micery of
are alloweqd (%
rl'lEEI'i.ng-,g of th

the Government whe
participate in  the
Parliament of India,

According to the Constitution of India,
the Attorney General of India submits
his resignation when the Government
which appointed him resigns,

Which of the statements given above is/are
correct 7

(a) 1only

(b) 2only

@ Bothland?2
{d)  Neither 1 nor 2

With reference to the writs issued by the
Courts in India, the
statements ;

consider following

1. Mandamus will not lie against a private
organisation unless it is entrusted with
a public duty.
Mandamus will not lie against a
Company even though it may be a
Government Company.

Any public minded person can be a
petitioner to move the Court to obtain
the writ of Quo Warranto,

Which of the statements given above are
correct 7

{a) 1and2only
(b) 2 and 3 only
{e) 1and 3 only
() 12and3
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" With reference to Ayushmap

Bharat e
Mission, consider the s e

ﬁ}llnwing state

1. Private and publje hospitals Mus

2. As it aims to achioyp
COVETage, every citizen
part of it ultimately

9. It has
country.

menty :

t adopt it

univergg| health
of India should he

oanNIIng Portability across the
Which of the statements
correct 7

(@ 1and2only

(k) 3only

¢}, land3only

@ 1,2and3

Eiven above is/are

#. With reference to Deputy Speaker of Lok
Sabha, consider the following statements :

1. As per the Rules of Procedure and
Conduct of Business in Lok Sabha, the
election of Deputy Speaker shall be held
on such date as the Speaker may fix.

There is a mandatory provision that the
election of a candidate as Deputy
Speaker of Lok Sabha shall be from
either the principal opposition party or
the ruling party.

The Deputy Speaker has the same
power as of the Speaker when presiding
over the sitting of the House and no
appeal lies against his rulings.

The well established parliamentary
Practice regarding the appointment of
Deputy Speaker is that the motion is
moved by the Speaker and duly
seconded by the Prime Minister.

Which of the statements given above are

¥ landg only
d

B 12833

" 3and 4 only
IﬁJ

)

“Rapid Financing I”"”Tllrn--m--
Bl |, 7,
Credit Facility” 0

L7} the pru‘.ril.:',r
of the ﬁll]nwlng T

{y Asian Deévelopment Bank

Ares ""lﬂI'FH:I lI':’11'li|'|.

of lending by which one

M

(b} International Monetary Fupg

(e} United Nations Environment

Programme Finance Initiative

(d)

World Bank

With reference to the Indian economy,
consider the following statements :

1. An increase in Nominal Effective

Exchange Rate (NEER) indicatez the

appreciation of rupes,

2, An increase in the Real FEffective

Exchange Rate (REER) indicates an

improvement in trade competitiveness.

3. An increasing trend in domestic
inflation relative to inflation in other
countries is likely to cause an increasing

divergence between NEER and REER.

Which of the above statements are correct ?

(a}  1and 2 only
(b) 2 and 3 only
te}  1and 3 only
(d 1,2and3




. with reference to the

[ Indian .
wnvider the fnllow—ing Sk economy, | 85. With reference to the Indig
ments : T Boonyg
are the advantages of i MY, what
1. If the ]nﬂﬂtif_‘un 18 too hlﬂh Regery Bonds (11B=)" 7 ation 'li“'.'h!:u:r!.
Bank of India (RBI) is likely to by y
government securities ) % 1. Government can reduce the .,
) rates on its borrowing by way ¢ 1t pon
7. If the rupee is rapidly del}rﬁ‘ciﬂting iy ay of [T,
is likely to sell dollars in the Tuarkeit 2. 11Bs provide protection to the investors
;- from uncertainty regarding inflatiqy,
3. Ifinterest rates in the USA or Euro
pean : ‘ _
Union were to fall, that is likely to 8., Theinterest recetver an well as capital
induce RBI to buy dollars. gains on I1Bs are not taxable.
'i'lrh.'llth of ﬂ'l'E‘ statements g'.lﬂfﬂl'l. abiova. are Which :F the statements Eiven above are
coprect 9 correct !
I
& 1and2only (a) 1and2only
) 2 and 3 only (b) 2 and 3 only
{¢) 1and3 only (¢c) 1and3only
d 1,2and3 (d}y 1,2and3
96, With reference to foreign-owned e-commerce
W With reference to the “G20 Common firms operating in India, which of the
Framework”, consider the  following following statements is/are correct 7
state . ; :
i 1. They can sell their own goods in
1L It is an initiative endorsed by the G20 addition to offering their platforms as
together with the Paris Club. market-places.
L Itis an initiative to suppert Low Income 2. The degree to which they can own big
Countries with unsustainable debt. sellers on their platforms is limited.
Which of the statements given above is/are Select the correct answer using the code given
fSrrect 9 below :
4 1only (a) 1only
) o only (b) 2 only
M) Both 1 and 2 {c) Bothland2
() 4
) Neither 1 nor 2 (d) Neither 1 nor 2

Mrgr (41-C)




i

F e
armers han{nsllng thejy Crops

2, Textile mills CONvert
.n‘mg raw cof i
fabrics St
g A cu-_mmerlr.{al bank lnnding money to a
trading company :
i A COrporate

body

; issuing Rupes
Denominated Bongg ove

rEeas
Select the correct

Answer using the code given
below :

(a] 1land2only

@} 2,3 and 4 only

{¢/ 1,3and4only

@ 1,2 3and4

Which one of the following situations best
reflects “Indirect Transfers” often talked

about in media recently with reference to

India ? 190,

‘@) An Indian company investing in a

foreign enterprise and paying taxes to
the foreign country on the profits
ansing out of its investment

A foreign company investing in India
and paying taxes to the country of its
base on the profits arising out of its
iInvestment

) An Indian company purchases tangible

assets in a foreign country and sells
such assets after their value increases
and transfers the proceeds to India
ﬁ(l A foreign company transfers shares and
such shares derive their substantial

value from assets located in India

mf-‘m

(43-C)

20,

With reference to
; W0 the expang;
organisation or g comp ¥

v Whish
o iy

BeL Y

1. Acquiring new ft't'hnnhjgv :
¥ 5 - f'.'.‘ I.
expenditure, il
a. Debt financing

i8 conBidered CADiLe]
expenditure, while equity financing iy

considered revenue expenditure

Select the correct answer using the code given
below :

ia) 1only
(b)  2only

\Ec/b/ Both 1 and 2
(d)  Neither 1 nor 2

With reference to the Indian

consider the following statements -

BCOnOMY,

1. A share of the household financial
savings goes towards government
borrowings.

2, Dated securities issued at

market-related rates in auctions form a

large component of internal debt.

Which of the above statements isfare correct ?

(a) 1 only

(b) 2 only

" Both 1and 2

{d} NMeither 1 nor 2
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VGYH-U-FaT

Rapid Financing Instrument” and “Rapid l-'].
Cred;i Fuacility” ars

related to the provizions
nf']end:ing by which one of the Tellowing

() Asian Development Banlk
(b) International Monetary Fund

el United Nations Environment

Programme Finance Initiative

id] World Bank

With reference to the Indian economy,
consider the following statements -

l.  An increase in Nominal Effective
Exchange Rate (NEER) indicates the

appreciation of rupee,

2. An increase in the Real Effective |4
Exchange Rate (REER) indicates an
improvement in trade competitivencss,

3 An increasing trend in domestic
mflation relative to inflation in other
countries is likely to cause an increasing
divergence between NEER and REER,

Which of the abave statements are correct ?

(@) 1and 2 only

(b) 2and3 only

fe} 1and3s only
(d)  1,2and3
(3-A)

With reference to  the Indian eCOnnmYy,

consider the following statements :

L If the inflation iz too high, Reserve
Bank of India (HBI) is likely &g by

Eovernment securilies.

2. If the rupee is rapidly depreciating, RBI
is likely to sell dollars in the markst

3. If interest rates in the USA or European
Union were to fall, that is likely to
induce RBI to buy dollars,

Which of the statements given above are
correct 7

(al land 2 only
(bl 2and 3 only
{e] 1and3only

(dy 1,2and3

“G20  Common
consider the

With reference to the
Framework”,
statements :

following

1. It is an initiative endorsed by the 20
together with the Paris Club,

2. Itis an initiative to support Low Income
Countries with unsustainable deht

Which of the statements given above isfare
correct 7

(a) 1only
(b) 2 only
le) Both 1 and 2

{d)  Neither 1 nor 2




3. With reference b0 the Indian eeconomy, what

arc the advantages of “Inflation-Indexad

Bonds ([IBs)" "

1 Government can reduce the coupon

rates on its borrowing by way of ITBs,
9 MBs p:-m'il'lﬂ pmtecl,inn to the mmvestors

from uncertainty regarding inflation.

The interest received as well as capital
gains on [IBs are not taxable.

[75]

Which of the statements given above are

correct ?

(a) 1landZonly
(b) 2and 3only
{c) 1land3only

(d) 1,Z2and3

6. With reference to foreign-owned e-commerce
firms operating in India, which of "the

following statements isfare correct 7

1. They can s=ell their own goods in
addition to offering their platforms as
market-places.

2 The degree to which they can own big
sellers on their platforms is limited.

Select the correct answer using the code given

below -
fa) ' i u_'u]}r
by o only

() Both 1 and 2

@) Neither 1 nor 2

VGYH-U_FGT (6-A)

Which the 1

||||u,-i
NE Bk
real gectay in the i

‘Miap .

‘":_“II“”I_J ._i --|.-I|'|||||

L. I” |
Brmerg hnrvo-e.l-im:

their
. r . € rlJ|..4
2 extile milla o
: :.urn.mrlmq TECW ot
fabricy a0
3 A e
commercial bank lending Mitifey |
trading CoOmpany s
4. A : i
corporale  hody ISBUINE  Rupee

Denominated Bonds OVETSeasN

Select the correct answer using the code Stvin

below :

fa) 1andZ2only
by 2, 3 and 4 only
(el 1,3 and4only
idd 1,2, 3andd

Which one of the following situations best
reflects “Indirect Transfers” often talked
about in media recently with reference to
India ?

{a) An Indian company investing in a
foreign enterprise and paying taxes to
the foreign country on the profits
arising out of its investment

(b) A foreign company investing in India
and paying taxes to the country of its
base on the profits arising out of its
investment

(e} An Indian company purchases tangible
assets in a foreign country and sells
such assets after their value increases
and transfers the proceeds to India

(d} A foreign tompany transfers shares and
such shares derive thejr substantial
value from assets located in India
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b, With reference to the expenditure made by an | 11, Consider the following statements -

Tanat SO PATY, i ]
T EIERROS R FORRI Wil ol the 1. Pursuani to the report of TN AT E
following statements isfare correct ? g i e b diit ol iy Ay
: J 1971 was passed.
1. Acquiring 1w technology is capital :

di e 3 The Constitution of Indif empowere the

aepend 1 ture. i .

o Supreme Court and the High Courta o

iz considered capital punish for contempt of themselves,

2. Dhebit fnancing
c;-;pendit'llr"'n while equity financing is 3 The Constitution of India defines Civl
considered revenue expenditure. Contempt and Criminal Contempt.
4 1 dé & 4. In India, the Parliament is vested with
= f Y
Select the correct answer PRIBE R e REEE the powers to make laws on Contermpt
below : of Court.
(al 1only Which of the statements given above ig/are
correct 7
(b) 2omly
: () 1and 2 only
() Bothland2 () 1,Zand4
(d) Neither 1 nor 2 {¢) 3and4oenly
idy 3only
12. With reference to India, consider the following
10. With reference to the Indian economy, o B PR
consider the following statements : d
! Hg 1. Government law officers and legal firms

1. A share of the household financial are recognised as advocates, but

savings goes towards government corporate lawyers and patent attorneys

are excluded from recognition as

borrowings.

€ advocates.

2. Dated securities issued at 2. Bar Councils have the power to lay
market-related rates in auctions form a down the rules relating to legal

large component of internal debt. education and recognition of law

colleges.

Which of the above statements is/are correct ? ;
Which of the statements given above is/are

@) et correct 7
(b) 2 only R S
(bl 2 only
(e/ Both1and2 {c} Bothland2
(d) Neithor 1 nor 2 ‘ (dy Neither 1 nor 2

VGYH-U-FGT (7T-A)




pwing statements :

13.  Consider the foll
1. A bill amending  the Constitution
requires 8 prior recommendation of the
President of India.
2] When & Constitution Amendment Bill ig
i |.r9st~nted to the President of India, it ig
P ligatory for the President of India to
give his/her assent.
3 A (onstitution Amendment Bill must be
- assed by both the Lok Sabha and the
Rajya Sabha by a apecial majority and
[.]‘11’!;‘!!' is mo provision for joint sitting,
Which of the statements given above are
correct 7
(a) 1andZonly
(b} 2and3only
{c} 1and3only
({d) 1,Z2and3
14. Consider the following statements :

1. The Constitution of India classifies the
ministers into four ranks viz. Cabinet
Minister, Minister of State with
Independent Charge, Minister of State
and Deputy Minister.

2. The total number of ministers in the
Union Government, including the Prime
Minister, shall not exceed 15 percent of
the total number of members in the Lok

Sabha.
Which of the statements given above is/are
torrect 7
(@l 1only
(b) 2 only
{t) Both1and?2
(d}  Neither 1 nor 2
VGYH-U-FeT

15.

16.

(8-A)

Which of the following isfare the e
o T
poweris) of Lok Sabha 7

1, To ratify the declaration of Emergency

2 T
againat the Council of Ministers

pags a motion of no-confidence

3. To impeach the Pregident of India

Salect the correct anawer using the code given

below :

{a) land2
(b 2 only
) land3
idl 3 only

With reference to anti-defection law in India,

consider the following statements :

1, ' The law epecifies that a nominated
legislator cannot join any political party
within six months of being appointed to
the House.

2. The law does not
time-frame within which the presiding

officer has to decide a defection casze,

provide any

Which of the statements given above isfare

correct ?

(al 1lonly

(b} 2 only

(¢} DBothland?2
{d) Meither 1 nor 2



17.

1B.

Consider the following statements ;

1 Attorney General of India and Solicitor
General of India are the only officers of
the Government who are alloweq to
participate in the meetings of i
Parliament of India.

2, According to the Constitution of India
the Attorney General of India ibcatte
his resignation when the Governmeni
which appointed him resigns,

Which of the statements given above ia/are

correct 7

fa) lonly

(b) 2only

{c) Bothland2

{d) Neither 1 nor 2

With reference to the writs issued by the
Courts in India, consider the following
etatements ;

1. . Mandamus will not lie against a private
organisation unless it is entrusted with
a public duty.

2. Mandamus will not lie against a
Company even though it may be a
Government Company.

3. Any public minded person can be a
Petitioner to move the Court to obtain
the writ of Quo Warranto.

Which of the statements given above are
correct ?

(2] landg only
(b} 2and 3 only
£ 3 and 3 o nly
@) 1,28n43
VGYH-U-FGT

18,

20,

(11-A)

With reference to Ayushman Bharat Dipiga)

Mission, eonsider the following statements -

1. Private and public hospitals must adopt, it

9 Ag it aims to achieve universal healih
coverage, overy citizen of India should be
part of it ultimately.

9 It has seamless portability acrose the
country.

Which of the statements given above isfare

correct ¥

fa) 1and 2only

(b)) 3only

fe} 1and3only

idi 1,2and3

With reference to Deputy Speaker of Lok
Sabha, consider the following statements

1. As per the Rules of Procedure and
Conduct of Business in Lok Sabha, the
election of Deputy Speaker zhall be held
on such date as the Speaker may fix.

2, There is a mandatory provision that the
election of a candidate as Deputy
Speaker of Lok Sabha shall be from
either the principal opposition party or
the ruling party.

3. The Deputy Speaker has the same
power as of the Speaker when presiding
over the sitting of the House and no
appeal lies against his rulings.

4. The well established parliamentary
practice regarding the appointment of
Deputy Speaker is that the motion is
moved by the Speaker and duly
seconded by the Prime Ministar.

Which of the statements given above are
correct 7

tal  1and 3 only
(b) 1,2and3

(e} 3 and 4 only
(d) 2and 4 only




21. Among the following crops, which one is the 25. Consider the following pairs :
rtant anthropogenic source of both

St Mountoins

i | 3, Peak

methane and nitrous oxide 7 R s

o), Cofton 2. Wanda Devi — Kumaon Himalaya

bl  Rice 3. Nokrek — Sikkim Himalaya

ih) ic !

(g} Sugarcane Which of the pairs given above is/are correctly

o 7
id] Wheat matche
{a} land2
: o 3 a8 i ;

29, “System of Rice Intcmaihjmtmn of cultivation, (b} 2 only

in which all;nrm:.it.c -,-.-gtlij:m_g and drying of rice WG

s ig practised, resullsn <

i {d) 3only

1. Reduced seed requirement
26. The term “Levant” often heard in the news

9. Reduced methane production I
roughly corresponds to which of the following

3 Reduced electricity consumption

T AT regions 7
Eieloct thie pUrte SOFIEESRESl ST S Sulvon, {a) Region along the eastern Mediterranean
below :
shores
(a) 1and2only {b) Region along North African shores
(b} 2and3only stretching from Egypt to Moroeco
fe} 1and3 only {c) Region along Persian Gulf and Horn of
(@) 1.Zand3 S
{d) The entire coastal areas of
23. Which one of the following lakes of West Mediterranean Sea
Africa has become dry and turned into a
desert 7 27. Consider the following countries :
(a) Lake Victoria L Aserbaijun
(b}  Lake Faguibine 2.  Kyrgyzstan
(c) Otita 3.  Tajikistan
4. Turkmeni
(d Lake Volta -
5.  Uzbekistan
Hl Gandi - .
: hjkata canyon of South India was created Which of the above have borders with
¥ which one of the following rivers ? Afghanistan ?
i
) Cauvery (@) 1,2 and 5 only
®) " Manjira (b) 1,2, 3 and 4 only
{e)  Penngay (e} 3,4 and 5 only
(d) Tungg} ite (d) 1,2,3,4and5
VGYH-U-FGT

(13-A)



28, With reference to India. consider the following | g, Consider the following :

statements :
1 Monagite i8 8 SOUTCE of rare earihg, 1, Anrogya Setu
ite ¢ ins thoriun
: fonagzite conlains ;.
2 M =25 t Iy i a9 CoWIN
q  Monagite oceurs naturally in the anire
Indian coastal sands in India, 3. DigiLocker
4 In India, Government bodies only can
process 00 pxport monazite, 4, DIKSHA
% Which of the statements given ahove ape Which of the above are built on top of
l-.r i ¥
o L1 OPEN-BOUrce digital platforms ?
(a) 1,2and3only

(b} 1, 2and 4only {a) 1and 2 only
§ ¥ v

{c) 3and4only (b) 2,8 and 4 only
; d4
oS {c) 1,3 and4only
29. In the northern hemisphere, the longest day (@ 1,2 3and4

of the year normally occurs in the :

(a}  First half of the month of June

(b)  Second half of the month of June 32. With reference to Web 3:0, consider the
=R (¢}  First half of the month of July following statements :
(d) Second half of the month of July 1 Weie O fetinaln gy enibles pedple: 1o
b 80. Consider the following pairs : control their own data.
I Wetland / Lake Loecation 2 In Web 30 world, there can be
1. HokeraWetland — Punjab blockehain based social networks.
Renuka Wetland — Himachal Pradesh 3. Web 3-0 is operated by users collectively

2
3. Rudrasagar Lake — Tripura rather than a corporation.
4.

Sasthamkotta — Tamil Nadu Which of the statements given above are
correct ?

How many pairs given ahove are correctly
matched 7

(a) :
» Only one pair (b)  2and 3 only

(e
¢ Only threg pairs
W All four parg (d) 1,2and3

(a) 1and 2only

(¢) land3 only

VG 'I"H-U-FGT




g3. With referenc® to “Software as a Serviee a5
(SaaSV", consider the following statemenys -
1 Gaa$ buyers can customise 'the yger
interface and can change data fields.
2 Gaal WUSErs CAn Access their data
(hrough their mobile devices.
5. Outlook, Hotmail and Yahoo! Mail are
qnfSaaS
forms i
“rl'l.lf!h of the FtEtEI“E"ﬁtﬂ Hi\’ﬂl‘l ahﬂ\"e are
correct 7
a 1 and 2 only
(b) 2and3only
{¢) 1and3only
dy 1,2and3
34 Which one of the following statements hest
reflacts the idea behind the “Fractional
Orbital Bombardment System” often talked
about in media ? a7.
(a) A hypersonic missile is launched into
space  to . counter the asteroid
| approaching the Earth and explode it in
Ir space.
|
' (b) A spacecraft lands on another planet
after making several orbital motions.
() A missile is put into a stable orbit
i around the Earth and deorbits over a
target on the Earth.
.' dl A spacecraft ‘th
}r aft moves along a comet Wi
| the same speed and places a probe on its
Surfapg,
VGYH-U-FGT

(17-A)

Which one of the followmg is the context in

. LI & 5
which the term “qubit’ 18 mentioned ?

ia)  Cloud SBervices

(h) Quantum Computing

(¢) Visible Light Communication
Technologies

idy Wireless Commu nication Technologies

Congider  the  following communication

technologies :

1 Closed-circuit Television

2 Radio Frequency Identification

3. Wireless Local Area Network

Which of the above aré considered
Short-Range devicestechnologies 7

{a) 1and 2only

(b) 2and 3only

(c) 1and3only

(d) 1,2and3

Consider the following statements :

1.  Biofilms can form on medical implants
within human tissues.

2 Biofilms can form on food and food
processing surfaces.

3. Biofilms
resistance.

can  exhihit antibiotic
Which of the statements given above are

correct 7

(a) 1land2only
(b) 2and3 only
(¢) 1and3only
{d} 1,2and3




wing statements in respect

| 44,

48. Consider the foll

of prghi.liili'l'l:f’ :

X Pmbiﬂﬁ“"‘ aré made of both bacteria and
}'Eaf‘t-

g, The organisms in probiotics are found in
foods ingajst but they do not
unf.urﬂ]lf pecur 1 OHT gut.

g Probiotics help m the digestion of milk |
UgArs

which of the ctatements given above is'are

correct

a1 only

) only

P T and o

d) 2 EIII'EI- 3

g9, In the context of yacpines manufactured to
prevent COVID-19 pandemic, congider the
following statements :

1. The Serum Institute of India produced
COVID-19 vaccine named Covishield
using mENA platform.

9, Sputnik V vaccine is manufactured using
vector based platform.

3. 'COVAXIN is an inactivated pathogen
based vaccine.

Which of the statements given above are

correct ?

() 2 and 3 only

\t]  1and3only

(d} 1,244 d3

VGYH-U-FGT

(19-A)

If a major solar storm (aolar flare) reaches the

Earth, which of the
effects on the Earth T

following are the possibie

1. GPs and ;mu.-ip;ﬂ.lir_‘ln gyEtemS eonld fail.

9. Tsunamig eould oecul at equatorial

reginns.

grids could be damaged.

3. Power
4, [ntense AuUroras could occur OVEr rauch
of the Earth.

Forest fires could take place over much

of the planet.

6. Orbits of the gatellites could be
disturbed.

7.  Shortwave radio communication of the
aircraft flying over polar regions could

be interrupted.

Select the correct answer using the code given

below :

(a) 1,2,4 and 5 only
by 2,3,5,6and7 only
(¢) 1,3,4,6and7only

d 1,2,3,4,5,6and7




4 l]1 Ck Li] .

e YEBOTE Mt]?::tr:z :ﬂlm‘:hmh monitors thy | 49
Emiﬁsfmr‘l . T'E{I ages  of :{in'ﬁrcm o,
countries 15 i

~tabase ereated by shi

# EZPanth organisations oalition  of

4y Wing of “International Panel of oy o
Chang® .
(Committee under “United .

icl F-rarnﬁ""“"k Convention op gﬁ::::s

L -E
Change

@ Agency prnrnut:_td and  financed by

| [:nj'f.ﬂd Nations En"imnment
Programme and World Bank

42, Consider the following statements :
|  “The Climate Group” is an international

non-profit organization that drives
climate action by building large
networks and runs them. 44.

5 The International Energy Agency in
partnership with the Climate Group
launched a global initiative “EP1007.

3. EP100  brings together  leading
companies committed to driving
innovation in energy efficiency and
increasing  competitiveness while
delivering on emission reduction goals.

4  Some Indian companies are members of
EP100,

5. 'The International Energy Agency is the
Secretariat to the “Under2 Coalition”.

Whi

= th“f the statements given above are

la) 1*-2:4511{1 5

© p'*33“1':1!34:.4:1[

) 1,93 f
'“ 3,4 and §

(21-A)

“If rainforcsts and tropical forests are the
lungs of the Earth, then surely wetlands
function as its kidneys.” Which one of the
following functions of wetlands beat reflects
the above statement ?

The water cycle in wetlands involves

()
gurface ranoff, auhsoil percolation and
evapt yration.

(b)  Algae form the nutrient base upon
which fish, crustaceans, molluses, birds,
reptiles and mammals thrive.

(e) Wetlands play & vital role In
maintaining sedimentation balance and
snil stahilization.

(d) Aguatic plants absorh heavy metals and
excess nutrients.

In the context of WHO Air Quality

Guidelines, consider the following

statements :

1.  The 24-hour mean of PM, ¢ should not

exceed 15 pg/m® and annual mean of
PM, . should not exceed 5 pg/m?.

2 In a year, the highest levels of ozone
pollution oceur during the periods of
inclement weather.

3. PM,, can penetrate the lung barrier
and enter the bloodstream.

4. Excessive ozone in the air can trigger
asthma.

Which of the statements given above are
correct 7

() 1,3and4
(b) 1and 4 only
(¢) 2,3and4
(d) 1and 2 only




to  “Guechi” B0Mmetinpy

R 18
45 : i the news, consider the ; 5
rﬂmmnnﬂd in ¢ following
(atements
;l [tiza fungus.
i . in-fl‘ln: in some ”imﬂlﬂ}'ﬂ“ forest Hrems
2 _ .
¢ is mmmnrrml.[}' cultivated in the
4 Himalayan foothills  of north-eastern
[ndia.
ohich of the statements given above is/are
correct ¢
q) lonly
w3 only
@ 1 and 2
id) 2 a_ﬂd 3
46, With reference to polyethylene terephthalate,
the uge of which 18 so widespread in our daily
lives, consider the following statements :
L Tts fibres can be blended with wool and | 4%
cotton fibres to reinforce their properties.
9 (ontainers made of it can. be used to
store any aleoholic beverage.
3. Bottles made of it can be recycled into
other products.
4. Articles made of it can be easily disposed
of by incineration without causing
greenhouse gas emissions.
Which ?u!' the statements given above are
correct |
l:EI.:| 1 mﬂ 3
b} 2andq 50.
L | and 4
4 2angg
41 Whiey
of { e
(&) Gq % following is not 4 bird ?
b den M&hﬂee]-
! ]Jldia_n High i
(o) Har
. Spovaby
{d) ;
White This
VG?HM.FGT
(23-A)

.

Which of the following are nitrogen-fixing

plants ?

1. Alfalfa

2. Amaranth

3.  Chickpea

4. Clover

A, purslane (Kulfa)
6. Spinach

Select the correct answer using the code given
below :

(@) 1,3 and 4 only
(b} 1,3,5and 6 only

(¢} 2,4,5andB6 only

(d 1,2, 4,5and8

“Biorock technology” is talked about in which

one of the following situations ?

(a] Restoration of damaged coral reefs

(b) Development of building materials
using plant residues

(c) Identification of areas for
exploration/extraction of shale gas

(d) Providing salt licks for wild animals in

forests/protected areas

The “Miyawaki method” 18 well known for
the ;

(a) Promotion of commereial farming in
arid and semi-arid areas

(b) Development of gardens using
genetically modified flora

(e}

Creation of mini forests in urban areas

(d) Harvesting wind ENnergy on coastal

areas and on sea surfaces




overnment of India Act 1819, the

[n the & o b 4
of Provincial Governmeni Were

functions
givided into

jects which of the following were treated
11

19 Tk bl .
*Reserved and “Transferred”

.5 “Reserved” subjects ?

1 Administration of Justice
M Local Self-Government

3. Land Revenueg
4, Police

celect the correct answer using the code given

helow :

) 1,2and3
(b) 2,3and4
ic) 1,3and4
(d} 1,2and4

In medieval India, the term “Fanam” referred

to:

(a) Clothing
(bl Coins

(e}  Ornaments
(d}  Weapons

Consider the following freedom fighters :
! Barindra Kumar Ghosh

9 :
Jogesh Chandra Chatterjee

4,
Rash Behari Bose

Who of

With th:he above wag/were actively associated

Ghadar pariy 9
[BJ 1 &nd 9
4 4 oty

(25-A)

G4,

35.

With reference tn the proposals of Cripps

Mission. consider the following statements .

1. The Constituent Assembly would have
members nominated by the Provineial

Agsemblies as well as the Princely
States.

2. Any Province, which is not prepared to
accept the new Constitution would have
the right to sign a separate agreement
with Britain regarding its future status,

Which of the statements given above is/are

correct 7
ial 1only
(b} 2 only

Elc:} Both 1 and 2

(di Meither 1 nor 2

With reference to Indian history, consider the
following texts :

1.  Nettipakarana
2. Parishishtaparvan
3.  Avadanashataka

4. Trishashtilakshana Mahapurana

Which of the above are Jaina texts ?
(@) 1,2and3

(b) 2 and 4 only

() 1,3and 4

(d) 2, 3and4



|
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56,

With reference ta Tndian history,

follonei Mg pAIrs

Higtorical persan Krnown as

1. Arvadeva — Jaina scholar

2, Dignaga Huddhiat scholar

3. Nathamuni Vaizshnava acholur

How many pairs given above are correctly

matched 7

(n} None of the pairs
()  Only one pair

{c}  Only two pairs

dr  All three pairs
With reference to Indian history, consider the
following statements :

1 The first Mongol invasion of India

heppened during the reign of Jalal-ud-din
Khalji.
During the reign of Ala-ud-din Khalji, one

Mangol assault marched up to Delhi and
besieged the eity.

Muhammagd-pin
portiong pf nort
Mangols,

Tughlag temporarily Iost

h-west of hig kingdom to

consfdoa e thi | o,

il

S W worn |:r||:'.':|| [T "'M..|,-.|,_:‘-| ,,_w,l-d'. of the
{al -"l.r'uln|r.t_-rr-l|.||r|r.n ey

ihi ﬁ-.!ululniul-‘-:;

(e) ]"!!I'.-H-hn |:4||J:;,;ru|-_|-hi.-mtu

(e} Sayvida

With reforenes
following stote
1,

3.

The I

fhr_'r.r;rjeﬂ.-fwﬂmhrms
on lands granted

rulers.
Alfonsn de

from the Bijapur

The Engli
established
plot of land

to Indian hix
ments :

tory, conaidey thn
itch establishpdg

€8 on the pga
to them by (

|_]-|_1_=.|1.
Unagt,
}ﬁ.j A IJ ﬂt..l

Albuguergue captured Gog

Sultanata.
sh East [ndig Company
a factory at Madras on A
leased from

4 representative

of the Vijayanagara Empire.

Which of the statements

given above are

correct 7
(a)  1and2only
tb) 2 and 3 only
(e} land3 anly
(d) 1,2and3
According to Kautilya's Arthashastra, which
of the following are correct ?
1. Aperson eould be a glave 45 a result of g
Judieig] Punishment.
2. Ifafemale slave bore |

she was legally frpe.

Er master g s0m,




Consider the following statements

1 Tight monetary policy of US Federal
Reserve could lead to capital flight,

2. Capital flight may increase the interest
cost of firms with existing External
Commercial Borrowings (ECHs).

3 Devaluation of domestic currency
decreases the currency risk associated
with ECBs.

Which of the statements given above are

correct 7

(a] 1andZ2only

(b} 2 and 3 only

(¢} 1and 3 only

(d LZ2andd

Consider the following States :
1.  Andhra Pradesh

2. Eerala
g Himachal Pradesh
4. Tripura

How many of the above are generally known
as tea-producing States 7

fal Omly one State

(b)  Only two States

lel  Only three States

{d)  All four States

Consider the following statements :

1 In India, eredit rating agencies are
regulated by Heserve Bank of India,

The rating agency popularly known as
ICRA is a public limited eompany.
Brickwork Ratings is an Indian credit
rating agency.

Which of the gta i
tements given above are
COrrect ¥ E

fa)

1 and 2 only
bl 2 and 3 gniy
':.f.; 1 ﬂﬂll.a ﬂl]l}"
D 12443
H"{ﬁ‘“‘"'ﬂ-lﬂ.ﬂ

(29-A)

| G,

L i

Wi”'i Tl'r-r\-rq-t”_-;- to thas H
(BEBY, which of the # il n'.‘k" Board Burany
4 =4 ML r

correct 7 e o

1. The Governor of i .

BRE. A Chairman of

VT BBB recommends for the selectiog of
heads for Public Sector Banks,

3. BBB helps the Public Sector Banks in
developing strategies and capital ralsing
plans.

Select the correct answer using the code given

below :

{a) 1and?2only

{b] 2and3 only

{e} 1and3only

(d} 1,2and3

With reference to Convertible Bonds, consider

the following statemenits :

1.

As there is an option to exchange the

bond for equity, Convertible Bonds pay
a lower rate of interest.

The option to convert to equity affords

the bondholder a degree of indexation to
rising consumer prices,

Which of the statements given above is/are

correct ?

(a)  1only

(b) 2 only

{c}  Both1and 2
{d)  Neither 1 nor 2



66,

7.

Consider the following :

1% Agzian Infrastructure Investment Bank
2 Missile Technology Control Regime

3. Shanghai Cooperation Organization
India iz & member of which of the above ?

ia) 1and 2 only

(b} 3 only

(g} 2 and 3 only

() 1,2and3

Conzider the following statements :

1. Vietnam has been one of the fastest
growing economies in the world in the
recent years. '

2. Vietnam isled by a multi-party political
system. ;

. Vietnam’s economic growth is linked to
its integration with global supply chaing
and focus on exports,

% For a long time Vietnam's low labour
costs and stable exchange rates have
attracted global manufactyrers,

5 Vietnam has the most productive .
e-Bervice sector in the Indo-Pacifie
TERIOn.

Which of the statements given above are

SOrrect 7

8} 2and4
% 3anas

GH,

69,

T0.

Ifn  Trd; :

] mI'In{.n;. v._-lu:'h one of th; i

e ! o Jl'-'lfﬂl‘ Mantainin i I}.H"w.”""; 1
.II:Il'ILHJ-“Lng lhﬂ“”fln s » Price BLabnlits, by

im) x
1] |JH|m|Imtmtul‘{')r]munmr Afluiry

(bl Expenditure Managemeant Commiagiq
* T

(e Financial Stak ilit
; ¥ and De
Couneil TRy

Id) Reserve Bank of India
With reference to Non-Fungible Tokens
{NFTs), consider the following statements :

1.  They enable the digital representation
of physical assets.

2. They are unigue cryptographic tokens
that exist on a blockehain.

3. They can be traded or exchanged at
equivalency and therefore can be used

a8 a medium of commercial
transactions.

Which of the statements given above are
correct ?

{a] 1and2only
(b} Zand 3 only
(e}  land3 only

(dy 1,2 and3
Consider the following pairs :
Reservoirs States
1. Ghataprabha — Telangana
2. Gandhi Sagar — Madhya Pradesh
3. Indira Sagar Andhra Pradesh
4. Maithon — Chhattisgarh
H El i i
m:;: l-?;dn‘f Pairs miven above are nog correct]y

ta)  Only one pair
th)  Only two pairs
te}  Only three pairs
tdl All four pairs




7l

Ty, {al

In India, which one of the ol
information on industrial disput
rem—.*n-:lm'.-::::;:
pmploving workers ?

g comipilas
25, clogures

and ' lay-offs N factorios

Central Statistics Officn

Department for Promotion of |

(b} fatee
e and Internal Trade L
3 st (¢} Labour Bureau
S
F{:q i {d} National Technical Manpower
b Information System

. In India, what is the role of the Cgal

i Controller’s Organization (CCo 7

1. CCO is the major scurce of Coal
Statistics in Government of India.

3' It monitors progress of development of
Captive Coal/Lignite blocks.

") 3 It hears any objection to ihe
? Government’s notification relating to
acquisition of conl-bearing areas.

4 It ensures that coal mining companies
deliver the coal to end users in the
prescribed time,

Select the correct answer using the code given

B below :
EEL @ 1 2and3

) Gandd4 ﬂn]}r

e [0 1and2only
E At :
* @ 12and4

- Yaparticular area is brought under the Fifth

Behedule of the Constitution of India, which

7 &

1 TRl
B
fe)
1)

“muﬂ"

e of the following statements best reflects
the nsequence of it 7

‘&) This would prevent the transfer of land

of tribal people to non-tribal people.

This would create a local self-governing

body in that area.

Thi.' would convert that area into a
Union Territory,

e Etﬂt& having such areas would be
a Special Category State.

T4,

T6.

(33-A)

Congidir the following statements :

1 The India Samtation Coalition ia

&

platlorm L promote sustainahle
sanitation and is funded by (he
Government of India and the World

Health Organization.

=, The Mational Institute of Urban Affairs
in an apex body of the Ministry of
Houging and Urban Affuirs in
Government of India and provides
innovative solutions to address the
challenges of Urban India.

Which of the statements given above isfare

correst 7

fa) 1 only

(b 2 only

(¢)  Bothland?2

(d) Neither 1 nor 2

Which one of the following has been
constitubed under the Environment
(Protection) Act, 18986 7

ial
ib)
(e)

i}

Central Water Commizsion

Central Ground Water Board
Central Ground Water Authority
National Water Development Agency

“United Nations
consider  the

With reference to the
Credentials  Commitiee”,
following statements :

1. It is a committee set up by the UN
Security Council and works under its
supervigion.

2. It traditionally meets in March, June
and September every year.,

a. It assessez the credentials of all [UN

members before submitting a report to
the General Assembly for approval.

Which of the statements given above is/are
correct ?

{a) 3only

(b) land3
() Z2and3
(dy land2



77. Which one of the ﬁ:'"n“’iing
describes the ‘Polar Code’ 7

(]

(b)

(c)

(d)

B. With reference to the United Nations General
Assembly, consider the following statements :

L

Which of the statements given above are
“orrect 2

(@)
()

Statemen s best I

It is the internationg] code

; ; of safoty
ships operating in polar i ¥ for

ters,
It i= the AfTeement, of 1

he countri
rles
around the North

: Pole regarding the
demarcation of their territories in the

polar region,

It is a set of norms tp bhe followed by the
countries whose scientists undertake
research studies in the North Pole and
South Pole.

It iz a trade and security agreement of
the member countries of the Arctic
Council.

The UN General Assembly can grant
observer status to the non-member

States. o

Inter-governmental organisations can

seek observer status in the UN General
Assembly,

Permanent Observers in the UN
General Assembly ecan  maintain
missions at the UN headquarters.

Land 3 oy
2and g g},

Land 3 o),

%Qﬁ L2ang g
gy

(35-A)

T,

With reference to the “Tea Board”® in India,

congider the following statements
1. The Tea Board is a statutory body.

2 It ie a regulatory body attached to the
Ministry of Agriculture and Farmers
Walfare,

d. The Tea Board’s Head Office i= situated

in Bengaluru,

4, The Board has overzeas offices at Dubai
and Mosecow.

Which of the statements given above are

correct 7

(a) land3
(b) 2and4
(e} 3and4
({d} landd4

Which one of the following best describes the
term “greenwashing” ?

(a) Conveying a false impression that a
company’s products are eco-friendly and

environmentally sound

(bl MNon-inelusion of ecological/

environmental costs in the Annual
Financial Statements of a country

c) Ignoring the

COnSequences

disastrous
while
infrastructure development

ecological
undertaking

(d) Making mandatory. provisions for
environmental costs in a government

project/programme




“-rr

=1

ol Consider the following Statements -

(e} Jand?2
b} 2only
el 2and3
@ 3only
¥, Consider the following countries
L Armenia
L Azerbaijan
4 Romania
B U bekist
i .'nf the above are members of the
7 ion of Turkic States ?
' L2andq
t:' land 3
5
-And §
1q)

1. High clouds

9. Low clouds have a high absorption of
infrared radiation emanating from t.hl:F
Earth’s surface and thyg Calisp wnrmiu;
pffect.

Which of the statements given ahove

iafare

lE!ll 1 'n\nl}l
bl 2 Dl'.ll}'
() Bothland2

(d) Neither 1 nor 2

Consider the following statements ;

1. Bidibidi is a large refugee settlement in
north-western Kenya.

2 Some people who fled from South Sudan
civil war live in Bidibidi.

3. Some people who fled from eivil war in
Somalia live in Dadaab refugee complex
in Kenva.

Which of the statements given above isfare

earrect !

B4,

B35.

ddand 5
M.*-*'FET

(37 -

Al

Congider the following atatements

1. Gujarat has the largest aolor park in
India.

2, Kerala hps a fully solar powerad
Internatinnal Airport.

3. Goan har the largest floating solar
photovaltaic project in India

Which of the statements given above isfare

correct 7

a} 1land32

b}  2only

(¢ land3d

(d) 3 only

With reference to the United Nations

Convention on the Law of Sea, consider the
following statements :

1. A coastal state has the right to establish
the breadth of its territorial sea up to a
limit not exceeding 12 nautical miles,
measured from baseline determined in
accordanee with the convention.

2.  Ships of all states, whether coastal or
land-locked, enjoy the right of innocent
passage through the territorial sea,

3. The Exclusive Economic Fone shall not
extend beyond 200 nautical miles from
the baseline from which the bhreadth of
the territorial sea is measured,

Which of the statements given above are
correct 7

{a) 1 and 2 only
by  2and3 only
(e} 1and3d only
(d) 1,Zand3




Wwhich one of the following state

86 mﬂﬂut.s the iarlsue with S':'l'lk.qh:?pr;t?ﬂ:zit BB,  Consider the following pairs :
sometimes mentioned in the news » - Rudion e Vgt Coiniy
{a) It is Tgl"‘T'lErﬂil_‘_n-' hﬁ]it‘k’t‘-d that t.hq-ﬁ,r are 1. :rn::;lr::“m i Turkey
artificial islands magde by a country 2. Amhara _ Ethiopia
around South Ching Sea, : d. Caha Delgado —  Bpain
4. Catalonia — Italy
(p) Chind and Japan CNEAEe in maritime How many pairs given above are correctly
disputes over these islands in FHast AUl
China Sea. (a) Only one pair
(b)  Only two pairs
) A permanent American military base {c)  Only three pairs
has been set up there to help Taiwan to (d) Al four pairs
miitems 14 col0Co capabiltises. 89. With reference to Indian laws about wildlife
id) Though International Court of Justice protection, consider the following statements :

daclared. ther. as 1o mkns Jand, some l. Wild animals are the sole property of

: : ; the government.
South-East Asian countries claim them.

2, When a wild animal iz declared
protected, such animal is entitled for
equal protection whether it is found in

. Consider the following pairs : protected areas or outside.

3. Apprehension of a protected wild animal
Country  Important reason for being

in the news recently becoming a danger to human life is

B ENad o T et oy of nermanant E?fjicient. ground for its capture or
military base by China killing.
2. Cunines — SUHpEnBiunnfGnnstitutinn Which of the statements given above izfare
and Government by military correct ?
3. Lebanon — Severe and prolonged (a)  1and2
economic depression (b} 2 only
* Tunisia — Suspension of Parliament (e)-i Land
by President (d) 3 only
Hu many pairs given above are correctly 80. Certain species of which one of the following
Miitehed organisms are well known as cultivators of
1&) G.I]] . ﬁ.]-“gi iy
¥ one
(b P {a) Ant
n Ouly two pairs (b)  Cockroach
Oxly three pairs (@) Crab
All fouy pairs {d) Spider




Consider the following pairs -

LT
Site of Ashoka's Location in the
”m.f.r_:.r' rock edicts Stete of .
{, Dhauli — Odisha
9. Errﬁg‘udl — Andhra Pradesh
5 Jaugada — Madhya Pradesh
4. Kalsi — Karnataks
2% 95.
How many pairs given above are correctly
matched ?
(a) Only one pair
b) Only two pairs
(¢) Only three pairs
d All four pairs
Consider the following pairs :
King Dynasty
1 Nannuka — Chandela
2. Jayashakti — Paramara
4. NagabhataIl — Gurjara-Pratihara
4 Bhoja — Rashtrakuta
96.

How many pairs given above are correctly
matched 7

‘2]  Only one pair

(b} Only two pairs

il Only three pairs

) All four pairg

Which one of the following statements about

Sangam literature in ancient South India is
COrrect 9

&

® Sangam poems are devoid of any

1) ﬂ“f“‘eﬂﬁftumataria] culture.
ImE social classification of Varna was
) o0 toSangam poets.
am poems have no reference to
(f) eTior ethie,
Bam literature refers to magical

; forees s irrational.
MM“*GT

(41-A)

“Yogavasistha” wae translated into Persian by

Nizamuddin Panipati during the reign of :

Alkhar

)
(b} Humayun
e} Shahjahan
{d)

Aunrangzeb

The world's second tallest statue in sitting
pose of Ramanuja was inaugurated by the
Prime Minister of India at Hyderabad
recently,. Which one of the following
statements correctly represents the teachings
of Ramanuja ?

fta) The best means of salvation was
devotion.

{(b) Vedas are eternal, self-existent and
wholly authoritative.

(c) .Logical arguments. were essential
means tor the highest bliss.

(d) Salvation was to be obtained through

maeditation,

The Prime Minister recently inaugurated the
new Circuit House near Somnath Temple at
Veraval. Which of the following statements
are correct regarding Somnath Temple ?

1. Somnath Temple is one of the Jyotirlinga
shrines,

2. A description of Somnath Temple was
given by Al-Biruni.

3. Pran Pratishtha of Somnath Temple
(installation of the present day temple)
was done by President S. Radhakrishnan,

Select the correct answer using the code given
below ;

fa) 1and2only
(b} 2and 3 only
led  1and 3 only
(dy 1,2and3




Which one of the ﬁ’””“'i“ﬁ statements bnat
- at

describes the role of B cells yng T cells in t}
=4 I'_"

human body 7

fa) They protect the
environmental allergens,

body

from

(bt They alleviate the body
inflammation,

'8 pain  and

(¢) They act as immunosuppressants in the
body.

(d) They protect the body from the discases
caused by pathogens,

Censider the following statements :

L Other than those made by humans,
nanoparticles do not exist in nature.

2 Nanoparticles of some metallic oxides
are used in the manufacture of sOme
coSmetics,

%  Nanoparticles of some  commercial
products which enter the environment
are unsafe for humans,

Which of the
torret 9

statements given above isfare

W only

() ﬂﬂn]y

" langy

;_{d:' Zand 3

0o,

100,

(43-A)

Congider the following statements .

DNA Barcoding can he a tool to -

1 assess the age of a plant or animal,

2, distinguish among apecies that look
alike,

3. identify undesirable animal or plant
materials in processed foods.

Which of the statements given ahove is/are

correct ?

(a) 1only

th) 3 only

(e} land2

(dd 2and3

Consider the following :

1.  Carbon monoxide

2. Nitrogen oxide
3: Ozone
4, Sulphur dioxide

Excess of which of the above in the
environment is/are cause(s) of acid rain 7

{fa) 1,2and3
(b) 2 and 4 only
(¢} 4only

(d) 1,3and4
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L. . ™Olim : Yo s
.I flte Action Trackey which monitors the | g,

BIMISsion reduction pledges of different

Ctountries jg 4 -

al  Database created by coalition of
research oTganizations

(b) Wing of “1 niernationa] Panel of Climate
Change”

¢} Committee ungder “United Nations
Framework Convention on Climate
Change”

d)  Agency promoted and financed by
United Nations Environment
Programme and World Bank

2.  Consider the following statements

L “The Climate Group” is an international
non-profit  organization that drives
climate action by building large 4
networks and runs them. s

2.  The International Energy Ageney in
partnership with the Climate Group
launched a global initiative “EP100".

3. EP100  brings together  leading
companies committed to driving
innovation in energy efficiency and
increasing  competitiveness while
delivering on emission reduction goals.

4, Some Indian companies are members of
EF100,

5. The International Energy Agency is the
Secretariat to the “Under? Coalition™.

Which of the statements given shove are

correct 7

(@) 1,2, 4ands

(b) 1,3 and 4 only

&) 2 3andb only

(d) 1,2,3,4and5

1n.p"'t':i"'rH—l.,I-FG']'

(3-B)

he
P . : a  are t

“If rainforests and tropical forests :
wetlands

lungs of the Earth, then surely S
function as its kidneys.” Which one ol ¥

. ecks
following functions of wetlands best refl

the above statement 7

i involves
tal The water cycle in wetlands :In s
surface runoff, subsoil percolation 8

evaporation.

(b}  Algae form the nutrient hase L.IP'-’”-
which fish, erustaceans, molluscs, h‘lrd.‘-:-..
reptiles and mammals thrive.

(e} Wetlands play a wital role in
maintaining sedimentation balance and
soil stabilization.

(d)  Aquatic plants absarh heavy metals and
exceEs nutrients.

In  the context of WHO Air Quality
Guidelines, consider the following
statements :

1. The 24-hour mean of PM;{-.F. should not

exceed 15 Lg/m® and annual mean of
PM,, . should not exceed 5 ug/m?,

2; In a year, the highest levels of pzone
pollution oeeur during the periods of
inclement weather.

4. PM,, can penetrate the lung barrier
and enter the bloodstream.

4. FExcessive ozone in the air can trigger
asthma,

Which of the statements given above are

correct ?

{a) 1,3and4

(b} land4 only

(e} 2 Bandg4

(d)  1land2 only




T —

*5. With reference ¢

mentioned

s Ch i
Gueehi somelimes | 8,

in th y Which of the following are nitr::guﬂ-ﬁlin’g
e news, consider {he following

plants 7

statements
1L Itis a fungus. L. Alfalfa
2 : Amaranth

It ETOWE in some Hj“‘la]ﬂ}rnn e —

: ; 3. Chickpea
3. It is commercially  cultivated in the -

}“:;.‘lalﬂ}-a“ foothills of north-eastern 4. Clover
ndia,
. Purslane (Kulfa)

Which of the st o i o)
R statements given above is/are A, Spinach

la)  lonly Gelect the correct answer using the code given

(b)  3only below :

el land?2 *{a) 1,3 and 4 only

(d) 2and3 {h) 1,3, 5and 6 only
fc) 2 4,5andbonly

« 6. With reference to polyethylene terephthalate,
24 . dy 1,2.4,5band®

the nse of which is so widespread in our daily
lives, consider the following statements :

1 lis fibres can be blended with wool S 9. “Biorock technology” is talked about in which

cotton fibres to reinforee their properties. one of the following situations ?
2. (Containers made of it can be used to {a) Restoration of damaged coral reefs
store any aleoholic beverage. e =
é .3. Bottles made of it can be recycled into (b)  Development .9{ building materals
[ other products. using plant residues
4. Articles made of it can be easily disposed (¢) Identification of areas for
of by incineration without causing ; ;
A greenhouse gas emissions. exploration/extraction of shale gas
¥ S had f G alaterisits oitan e et e {(d) Providing salt licks for wild animals in
correct ? forests/protected areas
{a) land3
ol 10. The “Mivawaki method” is well known for
(b) 2and4
the :
fc) land4
«d) Z2and3 (a) motion of commercial farming in
arid and semi-arid areas
7. Which of the following is not a bird ? (b) Development of gardens . using
(a) Golden Mahseer genetically modified flora
+(b) Indian Nightjar (¢)  Creation of mini forests in urban areas
(¢) Spoonbill (d) Harvesting wind energy on coastal
{d) White Ibis areas and on sea surfaces
VGYH-U-FGT (6-8B)

:



*11, Consider the following :
1. Aarogya Sety
2. CoWIN
3. DigiLocker

4. DIKSHA

Which of the above are built on top of
open-source digital platforms ?

*{a} 1and2only
(b) 2,3 and4only
fc} 1,3 and4only
d) 1,2, 3andd

conzider the

12. With reference to Web 30,

following statements :

1. Web 3-0 technology enables people to
control their own data.

2. In Web 30 world, there can be
blockehain based social networks.

3. Web 3-0 is operated by users collectively
rather than a corporation.

Which of the statements given above are

correct 7
ia) 1and2only
th} 2 and 3 only
e} 1and3only
id) 1,2and3
VGYH-U-FGT (=

13.  With reference to “Software as a Service
(5an8)", consgider the following statements -
L SaaS buvers ecan customise the user
interface and can change data fields.
2, SaaS users can access their data
through their mokbile devices,
3. Outlook, Hotmail and Yahoo! Mail are
forms of Saas.
Which of the statements given above are
correct. T
*{a) 1andZ2only
ib) 2and 3 only
(¢} 1and3 only
d) 1,2andd
14, Which one of the following statements best

reflects the idea behind the “Fractional
Orbital Bombardment System” often talked

about in media ?

A hypersonic missile 1= launched into
to the

(a)

space counter asteroid

approaching the Earth and explode it in
space.

(b) A spacecraft lands on another planet

after making several orbital motions.

(e) A missile is put into a stable orbit
around the Earth and deorbits over a

target on the Earth.

(d) A spacecraft moves along a comet with

the same speed and places a probe on its
surface,

B)




#15. Which one of the following is the context in

1H.
which the term “qubit” is mentioned 7
ta)  Cloud Services
+(b)  Quantum Computing
tc)  Visible Light Communication
Technologies
(d)  Wireless Communication Technologies
% 16. Consider the following communication
technologies :
1. Closed-circuit Televizion
2 Radio Frequency Identification
3.  Wireless Local Area Network
Which of the above are considered
Short-Range devicesftechnologies ?
fa} 1and?2only
(h) 2and 3 only
«(¢) 1and3only 19,
(dl 1,2and3
w 17. Consider the following statements :
1.  Biofilms can form on medical implants
within human tizssues.
2. Biofilms can form on food and food
processing surfaces.
3 Biofilms can exhibit antibotic
resistance.
Which of the statements given above are
correct ?
Ya) 1and 2only
(b}  2and 3 only
{e) 1and 3 only
(d} 1,2 and3
NGYH-UFGT ([9-B)

! ol
Congider the following statementg D respe

of probiotics ;

: d
1. Prabiotics are made of hoth bacteria s
yveaslk.
3. The organisms in probiotics are found 10
fpods  we ingest but they do mot

naturally occur in our gut,

3. Probiotics help in the digestion of milk

EUEATH.

Which of the statements given above is/are

correct ¥

ia} 1only
ib} 2Zonly
icl 1 and 3
{(dl 2and3

In the context of vaccines manufactured to
prevent COVID-19 pandemie, consider the
following statements :

1. The Serum Imstitute of India produced

COVID-19 vaccine named Covishield
using mRNA platform.

[ ]

Sputnik V vaccine is manufactured using
veclor based platform.

3. COVAXIN is an inactivated pathogen
based vaccine.

Which of the statements given above are
correct ?

(a) 1and 2 only

(b) 2and 3 only
*le}  1land3 only

(di 1.2and3




If a major solar storm (solar flare) reaches the
Earth, which of the following are the possible

gffects on the Earth ?

1. (3PS and navigation systema could fail
2 Tsunamis could occur at equatorial
regions.

3.  Power grids could be damage:d.

4. Intense auroras could occur over much

of the Earth.

5 Forest fires could take place over much
of the planet.

A. Orhite of the satellites could be

disturbed.

Shortwave radio communication of the

=1

aircraft flying over polar regions could
be interrupted.

Select the correct answer using the eode given
below

a) 1,2 4and5only
(b} 2 3 5 6and7only
1,3, 4, 6 and 7 only

d 1,23456and7

YBYH-UrgT

22,

Consider the following statements @

1, Pursuant to the report of H.IN. Sanyal
Committes, the Contempt of Courts Acty
16871 was passad,

2, The Constitution of India empowers the
Supreme Court and the High Courts to
punish for contempl of themselves.

3 The Constitution of India defines Civil
Contempt ond Criminal Contempt.

4. In India, the Parliament iz vested with
the powers to make laws on Contempt
of Court.

Which of the statements given above is/are

carrect 7

{ia) 1and?2only
(hy 1,2 and4
ic) 3 and4only
{dy 3only

With reference to India, consider the following

statements :

1. Covernment law officers and legal firms
are recogmised as advocates, but
corporate lawyers and patent attorneys
are excluded from
advocates,

recognition  as

2.  Bar Councils have the power to lay

down the rules relating to legal

education and recognition of law

colleges.

Which of the statements given ahove is/are
correct 7

(a)
(b} 2only

(c) Bothland2
(d)

1 only

Neither 1 nor 2



Coensider the following st temienty ¢

‘93,
| A bill amending tha Constitution
requires s prior recommendation of the

President of Indig,

a When a Constitution Amendment Bill is
presented to the Pregideny of India, it is
obligatory for the President of India to
give hisher assent,

2. A Constitution Amendment Bill must be
passed by both the Lok Sabha and the
Rajya Sabha by a special majority and
there is no provision for joint sitting.

Which of the statements given ahove are

correct 7

gl 1and2only

(b} .2 and 3 only

{c}] 1and3only

sid}  1,2and 3

Consider the following statements :

1. The Constitution of India classifies the
ministers into four ranks viz, Cahinet
Minister, Minister of State with
Independent Charge, Minister of State
and Deputy Minister,

4. The total number of ministers in the
Union Government, including the Prime
Minister, shall not exceed 15 percent of
the total number of members in the Lok

Sabha.
Which of the statements given above is/are
correct ?
‘la)  1only
b) 2 pnly
‘el Both 1 and 2
id)

Neither 1 nor 2

Gy rar

20,

(13-B)

Which of the fallowing isfare the exclusive

power(s) of Lok Sahha 7

1 To ratily the declaration of Emergency
3 To

against the Council of Ministers

PAss o motion of no-confidence

3. Toimpeach the President of India

Select the correct answer using the code given

below :

(a) 1and2
(bl 2only
e land3
(d) 3 only

With reference to anti-defection law in India,
congider the following statements :

1. The law specifies that a nominated
legislator cannot join any political party
within six months of being appointed to
the House,

2.  The law does. not provide any
time-frame within which the presiding

officer has to decide g defection case,

Which of the statements given above is/are
correct 7

(al  1only

(b) 2only

(c)  Both1and 2
«d) Neither 1 nor 2



= 47 Consider the Tollowing tatementg

1. Attorney Genera] of Indin g

nd Saliei
(reneral il Solicitor

of i
India are the only officers of

the Government who ara
participate in the
Parliament of Indig.

allowed to

meetings of the

According to the Constitution of Indin,
the Attorney General ol Tedin. submits
his resignation when the ‘Gorernment
which appointed him resigns.

which of the statements given above isfare

correct

{a) lonly

b 2 only

(¢} Bothland2
»(d) Neither 1 nor 2

% With reference to the writs issued by the

Courts in India, consider the following
statements :
1.  Mandamus will not lie against a private

organisation unless it is entrusted with
a public duty.

2 Mandamus will not lie against a
Company even though it may be a
Government Company.

3  Any public minded person can be a

petitioner to move the Court to obtain
the writ of Quo Warranto.

Which of the statements given above are
torreet ?

&) 1and 2 only
b 2and3 only
) 1and3 only
W 1,24nd3
YOy pgr (15

20. With reforepes to Ayushman Bharat Digital

Miesgion, conaider the following statements :

1, Private and public hospitala must adopt it.

2. As it aims to achieve universal health

coverage, every citizen of India should be
part of it 1I!1,.i_|'|:|n1'||;||:5r_

3. It has seamless portability across the

country,

Which of the statements given above iglare

correct 7

(a) 1 and 2 only

ib) 3only

(¢} 1and3 only

*{dy 1,2and3
30. With reference to Depuly Speaker of Lok

Sabha, consider the following statements

1 Az per the Hules of Procedure and
Conduet of Business in Lok Sabha, the
election of Deputy Speaker shall be held
on such date as the Speaker may fix.

2 There is a mandatory provision that the
election of a candidate as Deputy
Speaker of Lok Sabha shall be from
either the principal opposition party or
the ruling party.

3. The Deputy Speaker has the same
power az of the Speaker when presiding
over the sitting of the House and no
appeal lies against his rulings.

4 The well established parliamentary
practice regarding the appointment of
Deputy Speaker is that the motion is
moved by the BSpeaker and duly
seconded by the Prime Minister,

Which of the statements given above are

correct ?

(a) 1 and3only

(b)) 1,2and3

{c) 3andd4only

(d) 2and4only

—-B }




“Rapid Financing Il'lﬂl-rumrn“t"

g1
#9" it Facility ars

and  “Rapid
: related to tha Provisinns
of lending by which one of the following ¢

{a) Azian Development Bank

” (b |:1[D1’r1.Ht-|'t1-nﬂ| ari.l'li]{vl_ﬂ Yy FI.LT'IIj

(¢) United Nations Environment

Programme Finance Initiative

a1 Warld Bank

8 with reference to the Indian cconomy,

consider the following statements :

1 An increase 1n Nominal Effective

Exchange Rate (NEER) indicates the

appreciation of rupee.

An increase in the Real Effectrve

Exchange Rate (REER) indicates an

(o]

improvement in trade competitiveness.

3. An trend in domestic

inflaticn relative to inflation in other

inereasing

countries is likely to cause an increasing

divergence between NEER and REER.
Which of the above statements are correct ?
@) 1and 2 only

b 2and 3 only

)

land 3 only
W 192and3
Mhuger

34,

(17-B)

Wi
ith  roflercnce to the Indian BTV,

eonaidér this following stntomenis -

1 IT the inflation & too high, Heserve

Bank of India (RBI) is likely ta buy
povernment. ascurities,

2. If the rupee is rapidly depreciating, RE]
ia likely to sell dollars in the market

4, If interest rates in the USA or European
Union were to fall, that is likely to
induce RBI to buy dollars.

Which of the statements given above are
correct 7

[a) 1 and 2 only

(b) 2and 3 only

{c] 1and3 only

idl 1,2and3

With refere.nce to the “G20 Common
Framework”, ;he
statements :

consider following

1. Tt is an initiative endorsed by the G20
together with the Paris Club.

2.  Ttis an initiative to support Low Income
Countries with unsustainable debt.

Which of the statements given above is/are
correct 7
(a) 1only
{(b) Zonly

(¢) Both1land2

{d) Neither 1 nor 2




J_E.t'grprll'.'ﬂ to the Ind; "

ﬂ':pa.rﬁ cth an BCOT Gy
W 3 o Wl‘lu[_ ;:ﬁ' I
dvantages r- ; « Wil i
Ji qﬁ,‘;} + gh ard the ﬂ\--‘-; g l“““'—“—‘“-ln:]nmr] s i following netivitics constitute
;_ nds{;]ﬁs. ! real sector in tha T,
1‘n‘l""-"f""n_0m' can ‘ reducs the it ,1 Farmers harvesting their crops
;q% rates 00 o hﬂrrcu,\-“.‘g by wWay of IIBs 2 Textile mills converting raw cotton into
L] id : fabrica
TIB$ provide protection to t fo :
: 2 from uncertainty regardj h o aony 4. A commercial bank lending money to a
m Tl nE 1nfla tion, t-rading company
y The interest received ag well as capital 4, & corporate  body  issuing Rupee
- gains on IiBs are not taxahle, Denominated Bonds overscas
hich of the statements given above are Select the correct answer using the code given
et ! below :
]anﬂh’ﬂm}' {a) 1 and 2 only
: (b1 2,3 and 4 only
d 3 only
g 280 #i(c) 1.3 and 4 only
o 1and3enly (d) 1,2,3and4
m . aﬂd 3 - : = =
g 12 .38. Which one of the following situations best
3 reflects ‘“Indirect Transfers” often talked
- o ik reference to foreign-owned e-commerce about in media recently with reference to
= ims operating in India, which of the India ?
fpwing statements is/are correct ? (a) An Indian company investing in a
s i i i to
En‘:r | They can sell their own goods in foreign e?terpnse and paying taxes
e sddition to offering their platfo = the foreign .cnuntry on the profits
Gil arising out of its investment
market-places.
*(h) A foreign company investing in India
1] - - “
an The degree to which they can own big and paying k5 he caatey ol its
sellers on their platforms is limited. base on the profits arising out of its
*iet the correct answer using the code given investment
Ef ¥y - {c} An Indian company purchases tangible
% W gl assets in a foreign country and sells
" +only : -
. such assets after their value increases
and transfers the proceeds to India
(d) A foreign company transfers shares and
such shares derive their substantial
ither 1 nor 2 value from assets located in India

(19-B)
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With refa

1d, Tence to the XpPendityre Eimie [
anisation . " Miade by py 41,
O : L or g COMBan which
following Statements iare el of tha
1. Acquiring  paw fab
_ B i'|:|1|:!]1_|ﬁ_'|.' IS capita)
expenditurg,

4 Debt finane - ! :

- Cung g Considoered capital
expenditure, while equity financing js
considered revenue expenditurg . 4z

Select the correct answer using the code given

below :

() 1 anly
B 2 only
(el Both 1 and 2
{d) Neither 1 nor 2
‘4, With reference to the Indian economy,
consider the following statements :
43.
L A share of the household financial
savings  goes  towards  government
borrowings,
2 Dated securities issued at

market-related rates in auctions form a
large component of internal debt.
Which of the above statements is/are correct ? | *

4{%
‘8l 1only

(b} 2 only
%t/ Both 1 and 2

ld) Neither 1 nor 2

I""GTH.U_FGT l21 - B }

; 3
"|.|||.u||...r Lhs |||||||u.r:r||q trops, which

MOEE Importang anthropogeni
mathatie g

ne im the

Bource of boltk
nitrous gxide *

in) Cotton
thi Hice
(e}  Bugarcane

Wheat

i)

“System of Rice Intensification™ of cultivation,
in which alternate wetting and drying of rice
fivlds is practised, results in -
L Reduced seed roquirement
2 Reduced methane production
3 Reduced electricity COnSumption
Select the correct answer using the code given
below :
la)  land 2 only
#{b) 2and 3 only
e} 1and3only
iddy 1,2and3
Which one of the following lakes of West

Africa has become dry and turned into a
desert ?

ta) Lake Victoria
(h)  Lake Faguibine
(e} Lake Oguta

{d) Lake Volta

Gandikota canyon of South India wias created
by which one of the following rivers ?

{al
(b

Cauvery
Manjira
tc} Pennar

(d) Tungabhadra



- fammy :

gonsider the following Palirs -

45 :
Peak Mountain,
1. Namcha Barwa — Garhwal Himalayg
g, Nanda Devi "7 Pf”!ﬂ.ﬂnn Hirn;tlau_-;-;a
TR 3, Nokrek | .— Sikkim Himalay,
which of the pairs given above isfare correctly
T patched ?
sq) land 2
-.1'-' 2 anly
) land3
d 3only
& The term “Levant” often heard in the I'I.E‘:WS
roughly corresponds to which of the following
regions 7
- = iz} Region along the eastern Mediterranean
shores
@) Region along North African shores
stretching from Egypt to Morocro
ie) Region along Persian Gulf and Horn of
Africa
d) The entire ecoastal areas  of
Mediterranean Sea
;T. Consider the following countries :
L Azerbaijan
L Kyrgyzstan
3. Tajikistan
% Turkmenistan
5. Uzbekistan
Which of the above have borders with
A Ughanistan 7
@ 1,2and b only
B 1,2 3and 4 only
1 34ana5 only
28 i and &
LT

(23

4“' "'l"'-”.ll. rel

WrOTIeE Ly 1
statemongy -

1,

nelin, Longider thoe 5'n|!|nw1nE:
Monasite {g i BOUree
r

2. Moniaeziie
5 8

of rare sartha,
Containg tharium

Monazite OECUCE  mEturg]

: I - :
Indian constal ¥ in the entire

sanda in India.
In India, Governman

t bodies enly ¢
PrOCEEs or export, M 3

aEite
Which of the Statementa
correct, 7

(a)
th}
te)
id)

Eiven above ars

1,2 and 3 only
1,2 and 4 only
3 and 4 only
1,2, 3 and 4

49. In the northern hemisphere,

the longest day
of the vear normally oceurs in the :

{a)  First half of the month of June
*(b) Second half of the month of June
(e} First half of the month of July

id) Second half of the month of July

%
50, Consider the following pairs :

Wetland / Lake Location
Hokera Wetland

Renuka Wetland

Punjab
Himachal Pradesh

Rudrasagar Lake Tripura

=R

Sasthamkotta
Lake

Tamil Nadu

How many pairs given
matched ?

{a}

above are correctly

Only one pair

(b} Only two pairs
(e)  Only three pairs
“(d}  All four pairs

B)




Consider the following

“e1. | pairs : 54, "Yogavisiathg” was translated into Persian by
Srte "J'.?'"-‘lsfiﬁim.'.u f_q:u'a’rf.lr’i'.fl in the Nizamuddin Panipati during the reign of :
maEior rock edicts State of (i
m Akbar
. 1. Dhauli — Odisha
i * (b}  Humayun
Teraadi — Andhra Prades
Erragudi dhra Pradesh () Bhakjahan
3. Jaugada — Madhya Pradesh (d}  Aurangzeh
4 Kalsi — Karnataka ‘ .
) B6. The worlds second tallest statue in aitting
; How many pairs given above are correctly pose of Ramanuja was inaugurated by the
'1 natched ? Prime Minister of India at Hyderabad
;a) Only one pair recently. Which one of the following
i . Only two pairs statements correctly represents the teachings
| = ] : of Ramanuja ?
¢l Only three pairs ;
L5 ALl puirs {a} The best means of salvation was
: g devotion,
s Consider the following pairs ; sib)  Vedas are eLerr_ml. self-existent and
i ; wholly authoritative.
King Dynasty k
{¢) Logical arguments were essential
i 1 Nannuka — Chandela means for the highest bliss.
2. Jayashakti — Paramara {d) Salvation was to be obtained through
3. Nagabhata II - Gurjara-Pratihara meditation.
A — A 56. The Prime Minister recently inaugurated the
How many pairs given above are correctly new Circuit House near Somnath Temple at
matehed 7 Veraval. Which of the following statements
(2 Only one pair are correct regarding Somnath Temple 7
‘bl Only two pairs 1. Somnath Temple is one of the Jyotirlinga
i) Only three pairs shrines.
) All four pairs 2. A description of Somnath Temple was
> given by Al-Biruni.
% Which one of the following statements about : 3
¥ e 3. Pran atishtha of Somnath Templ
§ : : ient. South i : : ple
digam literature in ancient South India is (installation of the present day temple)
errect 2 was done by President S. Radhakrishnan.
'8l Bangam poems are devoid of any Select the co i '
: rrect answer usi
 referenee to material culture, below : 5 hseods gaven
" The soeial classification of Varna was I e
~ known to Sangam poets. it
! Sangam poems have no reference to (b} 2and 3 only
Jld warrior ethic, _ te)  land 3 only
*' Sangam literature refers to magical 4B B
lorces as irrational. A
il
G?H'U'FGT

{26-B)




Iﬁ'i'- Which one of the Fﬂ“']"*'iﬂﬂ statements he

st
deseribes the role of B cely, and T cells in the
poman body ?
r(a) They  protect the body  from
environmental allergengs.
#) They alleviate the body’s pain and
inflammation,
(¢ They act as IMMunosuppressants in the
body.
4l They protect the body from the diseases
caused by pathogens.
58 Consider the following statements :
L Other than those made by humans,
nanoparticles do not exist in nature, ~
m'

[

Nanoparticles of some metallic oxides

are used in the manufacture of some
Chsmetics,

* Nenoparticles of some commercial
products which enter the Environment

2re unsafe for humans,

Which of the statements given above is/are

"rrect 9
E.i‘.-l 1 Uﬂi}'
'LI q ﬁ!.l.]:.-'
? langg
o0 anya
'l"?a'r'r;.
hu.FGT

(27-B)

59,

Consider the tollowing statements
DA Barcoding can be g tool to -
1. assess the age of a plant or animal,
2, distinguizsh among species that lonk
alike.
3. identify undesirable animal or plant
materials in processed foods.
Which of the statements given above is/are
correct ¥
ta) 1 only
(b) 3 only
s () land 2
(d 2and3
Consider the following :

1z Carbon monoexide
2. Nitrogen oxide
3. Ozone

4. Sulphur dioxide

Excess of which of the ahove in the
environment is/are cause(s) of acid rain ?
() 1, 2and 3
“b) 2and 4 only
(e} 4 only
(d) 1,3and4




{-nnﬁider the following statements -
High eclouds primarily reflect solar
radiation and cool the surface of the
Earth.

Low clouds have a high absorption of
infrared radiation emanating from the
Earth's surface and thus cause warming

effiect.
ghich of the statements given above is/are
.’t‘r“"ﬁ i

1 only

2 anly

Both 1 and 2

Neither 1 nor 2

L[m-a:lfr the following statements :
Bidibidi is a large refugee settlement in

nerth-western Kenya,
Some people who fled from South Sudan

civil war live in Bidibidi.
Some people who fled from civil war in
Somalia live in Dadaab refugee complex
i Kenya,
Which of the statements given above isfare
oorrect 7
land 2
2 only
2and 3
3 omly

C“ﬁhltier the following countries :
Armenia
Azerbaijan
Croatia
Romania

Uzbekistan

Which of the above are members of the
Urﬂ“ﬂiiﬂtiun of Turkic States 7
' 12and 4
th) 1and 3
Y 2 and 5
r |
! g 3: 4and 5
i
gy

Consgider the following statements ;

B

Gujaral has the largest solar park in
India,

Keraln has fully solar powered
International Airport.

Goa has the largest floating solar
photovoltaic project in India,

Which of the statements given above isfare

correct T

(a}
(k)
el
(d)

With reference

land 2
2 only
1and 3

3 only

to the United Nations

Convention on the Law of Sea, conszider the
following statements :

1.

A coastal state has the right to establish
the breadth of its territorial sea up to a
limit not exceeding 12 nautical miles,
measured from baseline determined in
accordance with the convention.

Ships of all states, whether coastal or
land-locked, enjoy the right of innocent
passage through the territorial sea.

The Exclusive Economic Zone shall not
extend beyond 200 nautical miles from
the baseline from which the breadth of
the territorial sea is measured.

Which of the statements given above are
correct ?

(a)
(b)
(c)
(d)

1 and 2 only
2 and 3 only
1 and 3 only
1,2and 3




£l

Which one Of.thﬂ following statements best

reflects the issue with Senkaku Islands

ometimes mentioned in the news ?

@) It is generally believed that they are
artificial islands made by a country

3mu:|‘|i'] South Chil‘lﬂ'Sna,

China and Japan eEngage in maritime
disputes over these islands in East

China Sea.

A permanent American military base
has been set up there to help Taiwan to

increase its defence capabilities,

@) Though International Court of Justice
declared them as no man's land, some

South-East Asian countries claim them.

Consider the following pairs :

Country Important reason for being

in the news recently

L Chad — BSetting up of permanent
military base by China

L Gumea — Suspension of Constitution
and Government by military

% Lebanon — Severe and prolonged
economic depression

% Tunisia — Suspension of Parliament

by President

Hiw many pairs given above are correctly

Tatehed 7

Only one pair
|'|:]
J E'”-l.'-’ two pairs
ey

Only three pairs

68,

70.

{31-B)

Consider the following pairs :

How many pairs given above

JEI?-:'HfirJrr often mentioned Country
in the news

Anatolia —_ Turkey
Amhara — Ethiopia
Cabo Delgado —  Bpain
Catalonia - Italy

are correctly

matched ?

tal  Only one pair
{b)  Only two pairs
(e}  Only three pairs
idy  All four pairs

With reference to Indian laws about wildlife
protection, consider the following atatements :

1.

Wild animals are the sole property of
the government.

When a wild is declared
protected, such animal is entitled for
equal protection whether it is found in
protected areas or outside.

animal

Apprehenszion of a protected wild animal
becoming a danger to human life is
sufficient ground for its capture or
killing.

Which of the statements given above is/are

correct ?

{a) land?2
(b)  2only
fch land3
td)  Jonly

Certain species of which one of the following
organisms are well known as cultivators of

fungi ?
(a) Ant
ib)  Cockroach
(¢} Crab
*{d) Spider




8

3 3

Consider the following statements
. Tight monetary policy of U8 Federal
Reserve could lead to capital flight.

9 Capital flight may incregse
o=t of ﬁ:‘ms

) i the interest
i with existing External
Commercial Borrowings {ECBs)
g Devaluation of domestic

decreases the currency risk a
with ECBs.

CUrrency
saociabed

Which of the statements given above are

gl 1and 2 only

b 2and 3 only
¢/ 1land3only
id) 1,2and3

Consider the following States :
1  Andhra Pradesh

. HRerala
1. Himachal Pradesh
4 Tripura

How many of the above are generally known
#s tea-producing States 7

|'a=

Only one State

B Only two States
't Omly three States
ld)  All four States

Congider the following statements :

-

In India, credit rating agencies are
regulated hy Reserve Bank of India.

The rating agency popularly known as
ICRA is & public limited company,

==

Brickwork Ratings is an Indian credit
fating agency.

Which o
Sorrecy

{5

the statements given above are

Land 2 unly
dand 3 only
land 3 only

b

£l

.'lil

T8,

L2andg

4.

With reference to the ‘Banks Board Burean

(BBB)', which of the following statements are
correct 7

1. The Governor of RBI is the Chairman of
BBE.
2, BBE recommends for the selection of

heads for Public S8ector Banks.

3. BER helps the Public Sector Banks in

developing strategies and capital raising
plans.

Select the correct answer using the code given
below

(a) 1and2only
ihy 2 and 3 only
{c) 1and3only
dl 1,2and3

With reference to Convertible Bonds, consider
the following statements

1.  As there is an option to exchange the

bond for equity, Convertible Bonds pay
a lower rate of interest.

The option to convert to equity affords
the bondholder a degree of indexation to
riging consumer prices.

Which of the statements given above is/are
correct ¥

tal  1only

(b} Z2only

el Bath 1and 2
(d)  Meither 1 nor 2



Cms{der the f'ullowing :

Asian Infrastructypes Inv

s

estment BHH]{

5 Missile Technology Contrg Regime

Shanghai Cooperation Organisation

e

[adia is 8 member of which of the ahove B
() 1and Zonly
) 8 only

@ 1,2and3d

~ Consider the following statements ;

1 Vietnam has been one of the fastest
growing economies in the world in the
recent years.

1 Vietnam is led by a multi-party political
system.

4. Vietnam's economie growth is linked to
its integration with global supply chains
and focus on exports.

For a long time Vietnam’s low labour
tosts and stable exchange rates have
artracted global manofacturers,

=

Vietnam has the
2-BEFVice gector

most  productive
in the Indo-Pacific

region.
Which of the statements given above are
Brrect 9
‘) 4 and 4
b aands
LA [T
d) land 9
JI"'
L.

TH,

79,

{35-B)

oo

In Indi‘a. which one of the following is
responzible for maintaining price stability by
controlling inflation
(a)  Department of Consumer Affairs
(b)  Expenditure Management Commission
(¢} Financial Stability and Development,
Coungil
(d) Reserve Bank of India
With reference to Non-Fungible Tokens
(NFTs), consider the following statements :
1. They enable the digital representation
of physical assets.
2. They are unique cryptographic tokens
that exist on a blockehain.
3. They can be traded or exchanged at
equivalency and therefore can be used
as a medium of commercial
transactions.
Which of the statements given above are
correct 7
(a) 1 and2only
(b) 2 and 3 only
(c) 1and3 only
id) 1,2and3
Consider the following pairs -
Reservoirs States

1. Ghataprabha — Telangana
Gandhi Sagar — Madhya Pradesh
Indira Sagar — Andhra Pradesh
Maithon —  Chhattisgarh

How many pairs given above are nog correctly
matched ?

ta)  Omly one pair
ib}  Only two pairs
(e}  Only three pairs
td)  All four pairs




In the Government of India Act 1919 e
functions  of Provincial Government were

givided into "Reserved” and *Transferred”

A gubjects. Which of the following were treated
o ugeserved” subjects 7
1 bry . Administration of Justice
n & 9 Lacal Self~Government.
|y g Land Revenue
4. Police
galect the correct answer using the code given
helow -
(a) 1,2and3
b} 2 8and4
@ 1,3and4
@) 1,2and4

B In medieval India, the term “Fanam” referred

to:
e W {g) Clothing
b Coins
it Ornaments
'dl  Weapons

Cansider the following freedom fighters :
L Barindra Kumar Ghosh

¢ Jogesh Chandra Chatterjee
4 Rash Behari Bose

Whe of the above was/were actively associated
" the Ghadar Party ?

| 1 and 5

I o iy

Y langg

B4.

With reference to the proposale of Crippe

Misgion, conasider the following statements :

1. The Congtituent Assembly would have
members nominated by the Provincial
the Princely

Assemhblies as well as

States.

2.  Any Province, which is not prepared to
aceept the new Constitution would have
the right to sign a separate agreement
with Britain regarding its future status,

Which of the statements given ahove isfare

correct ¥

{a) 1only

b)Y 2only-

(e} Both1land2
(d) Neither 1 nor 2

With reference to Indian history, consider the
following texts :

1.  Nettipakarana
2. Parishishtaparvan
3. Avadanashataka

4. Trishashtilakshana Mahapurana

Which of the above are Jaina texts 7

fa) 1,Zand3
(bl 2and 4 only
fe) 1,3 and4

2,3 and 4



4
Huray

with reference to Indian history, consider th
: e

following pairs :
Historical person Known as
¢ Aryadeva — Jaina scholar
, Dignage —  Buddhist scholar

g, Natham uni — Vaishnava scholar

How many pairs given
mat[‘hf'd ?

above are correctly

() None of the pairs

Only one pair

(b
) Only two pairs
(@ Al three pairs

With reference to Indian history, consider the
following statements :

| The first Mongol invasion of India

Ba,

happened during the reign of Jalal-ud-din
Khalji.
2. During the reign of Ala-ud-din Khalji, one

Mongol 2ssault marched up to Delhi and
besieged the city.

4 Muhammad-bin-Tughlaq temporarily lost
portione of north-west of his kingdom to
Mongols.

Which of the statements given above isfare
Correct ?

W 1and2
b} 2 only
ey 4 and 3
) 4 only

(39

-B)

BH,

?r:th !'ut'urenw to Indian history, who of the
ollowing were known as “Kulah-Daran” ?

a)  Arab merchante

(bl Qalandars
(e)  Persian calligraphists
(d} Sayyids

With reference to Indian history, consider the
following statements :

1. The Dutch established their
factories/warehouses on the east coast
on lands granted to them by Gajapati
rulers.

9  Alfoneo de Albuguerque captured Goa
from the Bijapur Sultanate.

- The English Easl India Company
established a factory at Madras on a
plot of land leased from a representative
of the Vijayanagara empire.

Which of the statements given above are
correct 7

(a) 1and2only
(b) 2 and3only
(c) 1and3only
(d) 1,2and3

According to Kautilya's Arthashastra, which
of the following are correct ? ?

1. A person could be a slave as aresult of a

judicial punishment.

oh if a female slave bore her master a son,
she was legally free.

3. If a son born to a female slave was

fathered by her master, the son was
entitled to the legal status of the
master's son.

Which of the statements given above are

correct ?

(a) 1and2only
(b} 2and 3 only
{¢) 1and3only
(d) 1,2and3
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|

A

. With reference to Indian history, consider the

with reference to Indian hist ory, congider the | B8-

following pairs :

Historical person Known as

1. Aryadeva — Jaina scholar
3. Dignaga — Buddhist scholar
3 Nathamuni — Vaishnava scholar s

How many pairs given above are correctly
matched ?

) None of the pairs
by Only one pair

©) Only two pairs

g All three pairs

fllowing statements-

1 The first Mongol invasion of India
happened during the reign of Jalal-ud-din
Ehalji.

2 During the reign of Ala-ud-din Khalji, one
Maongol assault marched up to Delhi and
besieged the city.

3. Muhammad-hin-Tughlag temporarily lost
portions of north-west of his kingdom to
Mongols.

Which of the statements given above is/are
Hrrect 7

' land2
-_h.: 2 '..'Il'i] y
I.[:__I 1 H_['.d 3
[d.l 3 uﬂ.l.:l_.?

Lt
Morgy (38 -B)

5‘:""”-" Ir!!Fr'rrmgs_x to Indian history, who of the
following were known as "Kulah-Daran” ?

la)
ih)
e}
()

Arab merchants
Qalandars
Persian cﬂll.igruph'litﬂ

Sayyids

With reference to Indian history, consider the
following statements :

1.

The Duteh establighed their
factorieaiwarehouses on the east coast
on lande granted to them by Gajapati
rulers.

Alfonso de Albuguerque captured Goa
from the Bijapur Sultanate.

The English East India Company
established a factory at Madras on a
plot. of land leased from a representative
of the Vijayanagara empire.

Which of the statements given above are

correct 7

{a) 1and?2only
(b) 2 and 3 only
(¢ 1and3only
{d) 1,2and3

According to Kautilya's Arthashastra, which
of the following are correct 7

1.

2.

A person could be a slave as a result of a
judicial punishment.

If a female slave bore her master a son,
she was legally free.

If a son born to a female slave was
fathered by her master, the son was

entitled to the legal status of the
master’s somn.

Which of the statements given above are

correct 7

(a) 1and2only
(b) 2and3 only
ie)  1and 3 only
(d) 1,2and3



In India, which one of the fallow :
'91' : i ; - : (1w11]b.',' {‘[J'I.'l‘;[]]]“s
1 111:'“'[1::"]":::1';':;3: l':::L;-‘d THl disputes, closures, | %4 Consider the following statements -
ire AT ay- : it ; , ’
;:IP]H_"'iI"IE' workers 7 SRS in factories L The India Sanitation Caoalition 12 a
J platform to  promote  sustainable
1 (@) Central Statistics Office eanitation and s  funded by the
; : Government of India and the World
bl ]_lvge;;ttl:ll_:;::] .-fl-.m Idl"n'n-lm’:l1'..um'1 of Industry Health Organization
3 - Pl 2, The MNational Institute of Urban Affairs
T el Labour Bureau 18 an apex body of the Ministry of
sl Techn: Housing and Urban Affairs  in
h (dy National a ) nieal Manpower Government of India and provides
Information System innovative solutions to address the
] " challenges of Urban India.
@ In 1n.;ha,1 what is F,hu role of the Cpal Which of the statements given above isfare
Controller’s Organization (CCQ) ? correct ?
1. CCO is the major source of (oal s
Statistics in Government of Tndia. (b}  Z2only
¢ (c} Both 1 and 2
2. It monitors progress of development of {d)  Meither 1 nor 2
) Captive Coal/Lignite blocks.
5 It hears any objection to the |95. Which one of the following has been
Government's nofification relating to constituted under the Environment
sequisition of coal-bearing areas, {Protection) Act, 1986 7
4. Tt ensures that coal mining eompanies (a)  Central Water Commission
deliver the coal to end users in the (b} Central Ground Water Board
prescribed time. (¢) Central Ground Water Authority
= ilm the correct answer using the code given (d) National Water Development Agency
fow :
it
lal 1,2and3 98. With reference to the “United Nations
| 0 P and Loade - Credentials Committee”, consider the
= i ¥ following statements :
, \E; 2 onl k :
™ | s 1. It is a committee set up by the UN
) 1,2and4 Seecurity Council and works under its
=T T . ) supervision,
Particular grea | - e
S X i s o i | % 1ol mets i M, June
; 3 and 5 F ¥
2c| 1':';"‘ of the following statements best reflects sptonher eyery year,
= £ Consequence of it 7 ] 3. It assesses the credentials of all UN
®) This would prevent the transfer of land Eﬂng: re hefore submitting a report to
of tribal people to non-tribal people, ® General Assembly for approval.
(b} Phig would ereate a loeal self-gpoverning ﬂ::ht .';I the statements given above is/are
body in that area. 3
) Thig would convert that area into a ). Banly
Union Territory. thyY l1and3
d) The State having lil.ld'l Brens would bs (¢} Zand3g
declared a Special Calegory State, (d) landz




'.H-I

bl

L

Wwhich one of the following

LIEEJ_”'ibES the ‘Polar Codea’ 7

iy
"egr

slatements hast

It is the international code of safety for

ghips operating in polar waters

It is the agreement of the countries
ground the North Pole regarding the
demarcation of their territories in the

polar region.

It is a set of norms to be followed by the
countries whose scientists undertake
research studies in the North Pole and
South Pole.

[t is a trade and security agreement of
the member countries of the Arctic
Council.

With reference to the United Nations General
Assembly, consider the following statements

The UN General Assembly can grant
ohserver status to the non-member
States.

Inter-governmental organisations can
seek ghserver status in the UN General
Arzembly.

the UN

maintain

Permanent Observers  in
General Assembly can

misgions at the UN headquarters.

Which of the statements given above are

Birrect 7

) 1and 2only
bl 2 and 3 only
'®)  1and 3 only
‘9 1, 2and3

9.

1 ["}1-

With reference to the “Tea Board” in Tndia,

congider the following statements

1,

2,

The Tea Board is a statutory body,

It is a regulatory body attached to the
Ministry of Agriculture and Farmers
Welfare,

The Tea Board's Head Office is situated

in Bengaluru,

The Board hag overseas offices at Dubai
and Moscow.

Which of the statements given above are

correct 7
{a) land3d
ihY 2and4

{c)

(d)

3 and 4

land4

Which one of the following best describes the
term “greenwashing” 7

(a)

(b

(c)

id)

Conveying a false impression that a
company’s products are eco-friendly and
environmentally sound

of

costs

MNon-inelusion ecological/
the Annual

Financial Statements of a country

environmental in

the

CONSEUences

lgnoring disastrous ecological

while undertaking

infrastructure development

Making mandatory provisions for
environmental costs in a government

project/programime
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1.

VGYH-U-FGT

in [ndia, which one of the I'nllm.-.-i“p_- tompileg
s fi ation on in st i . 3
informatic dustrial disputes, LI”HUH’_'-H:

retrenchments  and lay-offs in

emploving workers ?

factorieg

ja) Central Statistica Office

thy Department for Promotion of Industry
and Internal Trade

(¢t Labour Bureay

jd) National Technical
Information System

Manpower

In India, what i= the role of the Cpal
Controller's Organization (CCO) 7

1 CCO is the major source of Coal
Statistics in Government of India.

g It monitors progress of development of
Captive Coal/Lignite blocks.

3. It hears any objection to the
Government’s notification relating to
acquisition of coal-bearing areas.

4 Ti ensures that coal mining companies
deliver the coal to end users in the
prescribed time,

Select the correct answer using the code given
below :

(2l 1,2and 3

(b) 3and 4 only

ef 1and 2 only

) 1,2and4

Jj‘"a particular area is brought under the Fifth

Schedule of the Constitution of India, which

one of the following statements best reflects

the consequence of it ?

{a}  This would prevent the transfer of land
of tribal people to non-tribal people.

b}  This would create a local self-governing
body in that area.

¢} This would convert that area into a
Union Territory. \ _

{d) The State having such areas would be
declared a Special Category State.

(3-D)

r the following statement, ,

Conside o ;
1 The IIIfiiﬂ Sanitation Cr'a];lti,r,n .

platform 78] promote g, -‘5‘.-'111; e

canitation and 18 fundegq ":jh:

i

Giovernment of India and the
Health Organization.

The MNational In.ﬂt,itur,:e of Urhan Affas,.
;s an apex body of the :'f'linisw.!, ::T
Housing and Urban  Affajrg
Government of India and
innovative solutions to
challenges of Urban India.
Which of the statements given above is/are

Orle

in
Yo I.Ij Ba
address the

correct 7
{a) 1 only
(b} 2 only

(¢} Both1and?2
{d} Neither 1 nor 2

Which one of the following has heen
consttuted under the Environment
{Protection) Act, 1986 7

{a} Central Water Commizssion

ib} Central Ground Water Board

{e)  Central Ground Water Authority

(d) National Water Development Agency

Nations
the

“United
consider

With reference to the
Credentials  Committee”,
following statements

1. It is A committee set up by the UN
Security Council and works under its
supervision.

2. It traditionally meets in March, June
and September every year,

9. It assesses the credentials of all UN
Eemch:rs before submitting a report to

¢ Lreneral Assembly for approval.

Which ;
cnn:e:;t ‘?f the statements given above is/are

(a) 3 only

(b) landgy
¢)  2and3
dy 1 and 2




v ; the ﬁr"uw[ E astatements beat
1 i} |
\Jl'-hlf'!'l Lt : 1 :
dgv\-l:‘l'ijl 5 “'l-l:" la l:.[_\dg

e i PolaT

1t is the international code of safety for

o <hip# upcrnl.ing in polar waters,
[t 15 the agreement of the countries
¢ js the

,,-:_rmlrll'] the North Pole fEEHrdmg the

semarcation of their territories in the

polar region.

(bl

It is & set of norms to be followed by the
puntiies whose scientists undertake
osearch studies in the North Pole and

[ f.|

south Pole.

1t is a trade and security agreement of
the member countries of the Arctic

(d}
Council.

with reference to the United Nations General

sssembly, consider the following statements :

1. The UN General Assembly can grant
observer status to the
States.

non-member

2 Inter-governmental organisations can
seek observer status in the UN General
Assembly.

4 Permanent Observers in the UN
General  Assembly can maintain
missions at the UN headquarters.

Which of the statements given above are
torrect 7

@ 1 and 2 only
LI and 3 only
[ﬂ] 1 and 3 DH]}'

L L2andg

"-I"G"!’H.u_FGT

10.

15 the bl 01 Hl:"?lh.ﬂ“ :

with referen

It &
ider the following statementg : "y,
consl 7
: ard is 8 statutgy
i The Tea Boa BTy b,
5 Lt e B TERUAREY 00dy attacheq |
g iculturs Fhe
: at of _,g!'.g'!'l * Ang s
pims Ty L.

Welfare.
The Tea poard'’s Head Office i, Bituate
in Bengalurt:

4. The Board has overseas offices o Dby

and Moscow.

Which of the statements given abgye i

correet ?

(@) 1 and 3
by 2and4
(¢) Sandd
(d) land4

Which one of the following best describes the

term “greenwashing” ?

(a) Conveying a false impression that a
company's products are eco-friendly and
environmentally sound

(b) Non-inclusion of ecological/
environmental costs in the Annual

Financial Statements of a country

(¢)  Ignoring the
consequences while
infrastructure development

(d) Making mandatory ~provisions

. t
EOvVironmenta) eosts in a governmer

Project/programme

disastrous ecological
undertaking



C ~gider the following statemoents |
L ThE

11.

14.

1 Tight monetary policy of US Federa)
ReseTve could lead to eapital Night,

F l'ﬂililf’:' nlgm may increase the interest

2. st of firms with existing External
[-'nh‘.nmn‘ie'l] Borrowings (ECBs).
rl._"‘.'l'L]Uﬂl'i'-'” of domestic currency

* dv;'wnse.-' the currency risk associated
with ECBs.

which of the statements given abave are

E-nm‘-r[ I-,

(a) 1and2 only

(h) 2 and 3 only

(¢} 1and3only

(dy -I;2 and 3

12, Consider the following States :

1.  Andhra Pradesh

2 Kerala

3. Himachal Pradesh

4 Tripura

How many of the above are generally known

as tea-producing States 7 15.

fa} Only one State

() Only two States

i) Only three States

(dy All four States

13. Consider the following statements :

1. In India, credit rating agencies are
regulated by Reserve Bank of India.

2 The rating agency popularly known as
ICRA is a public limited company.

4. Brickwork Ratings ig an Indian credit
rating agency,

Which of the statements given above are

torrect 7

(&) 1and2 only

(b) 2and3 only

¢} 1 and 3 only

(7-D)

With paforBnce to the Banka Boarg By
i ; 1Ty
(BBB) which of the following HT.E‘IL{-.T“..-,: =

b by,
7
correct

{  ‘The Governor of RBLi8 the Chaprp

BEH.
9 BB rﬁcummendﬂ- for the Belection o
i heads for Public Sector Banks,
BB'H. hF_.!PH t.hﬂ '[_ﬂ_Lb“C Sector Bﬁ_nk_,' in
developing strategies and capital raising

plans.

Select the correct answer using the code given

below :

{a) 1andZ2only
(b) 2 and3only
(el 1 and 3 only
(d) 1,2and3

With reference to Convertible Bonds, consider
the following statements :

1.  As there is an option to exchange the
bond for equity, Convertible Bonds pay
a lower rate of interest.

2. The option to convert to equity affords
the bondholder a degree of indexation to
rising consumer prices.

Which of the statements given above isfare
correct 7 ’

(a} 1only

(b)  2only

(e} Both1andg
(d)  Neither 1 nor 2



. 4 5 ane uf I_!“_. B
1 =ider the following ; i which Ry ul|
B. Consider 18, In Ind [-r:-lr‘ for II_“,HI-IT_;“nI!'II_{ Price At
responsl B + T
1 Asian Infrastructure Investrman Bank controlling inflation -

¢ment of Consumer "slrfﬂirq

rl‘-'..!_-H: i
alll']it-‘ul '||':I

; ; : (a) Depar
3 Mizsile Technology Contral Regime e . 4
a (b} Expenditure blanagement l:‘mrm'”’Fiilrh-.
- Shanghai Cooperation Organiss tion (e) Finaneial Stability and I_ZIEWIFrIﬂr_,,l.nlﬁ_w
Council

E India is a member of which of the above 9

(d) Reserve Bank of Incia

| d 2 only z
R 19. With reference to Non-Fungible Token,
(bt Jonly (NF'Ts), consider the following statement, .
| 1. They enable the digital representation
(el 2 and 3 only ufphj"!iif-‘ﬂl assets.
1,2and 3 2. They are unique cryptographic tokens
e s that exist on a blockchain,
17. Consider the following statements : 3. They can be traded or exchanged g
; ! equivalency and therefore can he used
1. Vietnam haz been one of the fastest as a medium of  commercial
growing economies in the world in the transactions.
recent years. Which of the statements given above are
correct 7
2. Vietnam is led by a multi-party pelitical G, -1 ind g ok
EYELETI.
o (b} 2 and 3 only
4. Vietnam's economic growth is linked to (¢} 1and3only
its integration with global supply chains d) 1,2and3

and focus on exports.

20. Consider the following pairs :
4. For a long time Vietnam's low labour

costs and stable exchange rates have Besertoios Satis
atiracted global manufacturers, 1. Ghataprabha =~ Telangana
5. Vietnam has the most  productive 2. Gandhi Sagar — Madhya Pradesh
e-Service sector in- the Indo-Pacific 3. Indira Sagar _ Andhra Pradesh
Tegion,
_ 4. Maithon -
m'hl;:[ ::1‘ the statements given above are -
i o |’-T T
i How many pairs given ahove are not correctly
l;j,_,- 2 aﬂd 4 IJ'IEIIChEd ?
b 3 dh (a)  Only ope pair
L and 4 {(b) Only twe Pairs
@ 1anq9 (€) Only threg pairs
(d) Al oy pairs
VGYHU £y

(9-D)

¥‘




21. (onsider the following statemenis - following statemen i

; 24. QConsider the
1. High clouds primarily reflgq solnr 5 \ oot has the largest gq
radiation and cool the surface of g, LA SRRy " Dar g
E-{ﬂ-h- Tndia.
| 9 Law I.']l.‘”d‘-: have a hiHh ﬂbﬂﬂrljtiun of 2 I{E"I"ﬂiﬂ' has FI: .f'l.ll|}' Ht]]Hr I“-""-’-lr.,,.h_lrl
: infrared radiation emanating from the International Airport.
i Farth's surface and thus cause warming a, Goa has the .larg.eat 1j|na.,_i ng o)y,
effiect. photovoltaic project in India,
. 1= e ' .y § ¥
Which of gt T e At Which of the gtatements given aboye iw/ars
'Jf- correct | correct ?
| (&) 1 I'll'l]}-
3 (b) 2 only {fa) 1land32
s {¢) Bothland2 (b) 2only
(d) Neither 1 nor 2 (¢} land3
29 (pnsider the following statements : : (d) 3only
1 Bidibidi is a large refugee settlement in
north-western Kenya.
g Bome ]:IE'ﬂP]E who fled from South Sudan | : ‘ _
civil war live in Bidibidi. 25. With reference to the United Nations
3 Some people who fled from civil war in Convention on the Law of Sea, consider the
Somalia live in Dadaab refugee complex following statements :
in Kenya.
g 1. A coastal state has the right to establish
Which of the statements given above isfare : the breadth of its territorial sea up to a
correct ? limit not exeeeding 12 nautical miles.
(&) land2 measured from baseline determined in
{o} 2 only accordance with the convention,
Je) Zand3 :
@ 3only 2. Ships of all states, whether coastal or
land-locked, enjoy the right of innocent
23. Consider the following countries : passage through the territorial sea.
L Armenia ;
- e 3. The Exclusive Economic Zone shall not
i Croas extend beyond 200 nautical miles from
e : the baseline from which the breadth of
5. Usbekistan the territorial sea is measured,
Which of the stq .
- lements
:jrhmh of the above are members of the correct ? Buien; ahayssare
"Banization of Turkje §
tates 7
® 12000 (@)  land2 only
Bl 1and3 (b)  Zand g only
()
‘d': iﬂ-ﬂ.d 5 le) 1 and 3 only
4 and 5 (d) 1,2ang
3
VGYH.pey

(11-D)




fcl

Which one of the following statementy

. beai;
reflects the 1ssue with - Senkalky [slands
h'-ﬂl'.['lf't-'i.nu'_*ﬁ mentioned in the news 7 !
(@ It is generally believed that they are

artificial islands made by g country
around South China Sea,

() China and Japan engage in maritime

disputes oveT these islands in East

China Sea.

A permanent Ame rican military basge
has been set up there to help Taiwan to

incresse its defence capabilities.

@) Though International Court of Justice
declared them as no man's land, some

Sounth-Fast Asian countries claim them.

28,

30.

27. Consider the following pairs :
Country Important reason for being
in the news recently
. Chad  — Setting up of permanent
military base by China
2. Guinea — Suspension of Constitution
and Government by military
d. Lebanon — Severe and prolonged
: economic depression
- Tunisia — Suspension of Parliament
by President
How MADY pairs given above are correctly
Matched 7
(a)
' Only gne pair
ihy f}nl}' two pairs
£ Al four pairg

(13-

D)

Congider the following Pairs
Region often mentioned Co Unify.
i the newd

l. Anatolia —  Torke,

2. Amhara g Ethiog;,

3. Cabo Delgado —  Spain

4. Catalonia ==l

How many pairs given above ars Correct),

matched ?

{a)  Only one pair

(b)  Only two pairs

(c)  Only three pairs

(d) All four pairs

With reference to Indian laws about wildlife

protection, consider the following statements .

1. Wild animals are the sole property of
the government.

o When a wild animal is declared
protected, such animal iz entitled for
equal protection whether it is found in
protected areas or outside,

3.  Apprehension of a protected wild animal
becoming a danger to human life is
sufficient ground for its capture or

Which of the statements given above is/are

correct 7

(a) 1and2

(b} 2 only

(¢} land3

(d) 3only

{:Eﬂﬂjlﬂ species of which one of the following

0rga1:11smﬂ are well known as cultivators of

fungi ?

Ja)  Ant

(b} Cockroach

{e)  Crab

(d)  Spider




In the Government of India Act 1919, the

el L HE
fanctions of Frovincial Government wepa
divided inte “Reserved” and “Transfarpaq»
._-ubi{_ll;‘l:‘_i. 'H'fhifh {rf thE‘ ﬁ}]iﬂ\'ﬂ'j[lg Werp I-”Z‘.Hir_-d
;3 . "'ﬁt:s_.pﬂ'f&“ gubjects 7
1 Administration of Justice
5 Local Self-Government
3. Land Revenue
4.  FPolice
Qojact the correct answer using the code given
below :
fal 1 2and3
ik} 2.8and4
ey 1,8and 4
(d} 1,2andd
32. In medieval India, the term “Fanam” referred
to:
(a) Clothing
ib) Coins 5.
"E.' Dmaments
ld)  Weapons
83. Consider the following freedom fighters :
L Ba.rimfra K,u:mg_r Ghﬂﬂh
2. Jogesh Chandra Uhatterjen
o HE'Sh Hehﬂ]‘.i EI}EE
Who of ¢
with th = above waslwers actively associated
¢ Ghadar Party 7
@ langg
(b} a8 nly
Al
LR | and 3
I ls
(15-D)

ar L]
anee t0 the | ='!'J'-' Alg o Gy
IWINE 8tate

With refer
i ol
Mission, consider the fo

i
Memg,

1.  The Constituent Assembly woyj B,

members nominated by the Provin
as well as the pg.

B
Tig)
Assemblies

States.

|_-|:_,_|_“I

2,  Any Province, which 18 not prepareq ,,
accept the new Constitution would hay,
the right to sign a separate agreemaont
with Britain regarding its future status

Which of the statements given above is/are
correct ?

fal 1 only

(b) 2 only

ic) Bothland 2

{d} Neither 1 nor 2

With reference to Indian history, consider the

following texts :

1.  Nettipakarana

2.  Parishishtaparvan
3.  Avadanashataka

4. Trishashtilakshana Mahapurana

Which of the above ara J aina texts ?
(a)  1,2and3

(b)  2and4 only

fe)  1,8andg4

{d)  2,8andq4




=4

[ ol

A

with reference to Indian history, consider the | 38
= | L u

46.

following pairs :

Jf-fl'.':.'f]-"j':“-"'? person Known as

: Aryadeva Jaina scholay

o Dignaga Buddhist scholay

3. Nathamuni — Vaishnava scholar | 39:

s ARy pairs given above are correctly

mﬂt{hed ?

(a} None of the pairs

(k)  Ounly one pair

(c) Only two pairs

(d} All three pairs

37. With reference to Indian history, consider the
following statements :

I, The first Mongol invasion of India
happened during the reign of Jalal-ud-din
Khalji

¢ During the reign of Ala-ud-din Ehalji, one 40
Mongol assault marched up to Delhi and
besieged the city,

3. Muhammad.-hin Tughl i

; ~Tughlag temporarily lost
L
Portions of north-west of his kingdom to
Mongnls,

“rhi[:h of .

i, the statements given above isfare

B land 9

l:- '] Ly

i'.l.. d U’ﬂ.]}"

" langg

[' \

di 4 only

W

(17-D)

With reference t© -
following were knov

tm)
(b
()
(d)

[ndian history, o

i ..]{u]ah-hamr‘r_':!:‘ the

Arab m:—erc‘hﬂut.h'

Galandars

Persian calligraphists

Sayyids

With reference to Indian history, consider t},,
following gtatements -

The Dutch patablished their
factories/warehouses 00 the east coggt
on lands granted to them by Gajapat
rulers.

Alfonso de Albuguerque captured Goa
from the Bijapur Sultanate.

The English East India Company
established a factory at Madras on a
plot of land leased from a representative
of the Vijayanagara empire.

Which of the statements given above are

correct 7

{fa) 1and?2 only
(b} 2and 3 only
{e}  1and3only
(dl 1,2and3

According to Kautilya's Arthashastra, which
of the following are correct ?

14

2,

3.

Wh.iﬂh of the gt

{!’L person could be a slave as a result of a
Judicial punishment,

If a female slave bore her master a somn,
she was legally free,

Ifasunburntnaf'
emale slave was
fathered by her master, the son was

l:-mtit]ed to thE 1
master's son. egal status of the

atements given above are

correct ?

(a)  land2g only
(b} 2and g only
A{e)  langg only
dr 1,2 and 3
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41. Consider the following pairs : ”
Qite ﬂ_ﬂ"g‘q-‘i.{?!lkﬂ.Jﬁ Lﬂl.‘ﬁ..’ign in the
mafor rock edicts Stu:te of
1 Dhauli — Odisha
9. E.r-ragudi — Andhra PFE-LI.EBh
3. Jaugada — Madhya Pradesh
o — Karnataka
gl
LR 45,
How many pairs given above are correctly
matched ?
Jal l}nl} One pﬂ.il'
(hi  Only two pairs
(¢} Only three pairs
id) All four pairs
42. Consider the following pairs :
King Dynasty
1. Nannuka — Chandela
2. Jayashakti ~— Paramara
3. Nagabhatall — Gurjara-Pratihara
4. Bhoja — Rashtrakuta i
How many pairs given above i
matched ) are correctly
(@  Only one pair
‘bl Only two pairs
ic) Only three pairs
@ Al four pairs
43, Whi
Ba N s following statements about
"84m literatyre in anclent Seuith Tndia is
'f.':ur:gﬂ ‘)
{a) 3
r:t{if:nm[ POEms  are devoid of any
i) The pocs W material culture.
kn{aw:mm classification of Varna was
© Hnon  Sangam poets,
. poe
(dj :;ar"iur elhif_-].:nu have no reference to
ohgam it
fi rature £ ;
mc@ﬁ&ﬂ'hmﬁﬂnm, refers to magical
VGYH-Ufgy
(19 -D)

wadtra nslated intg Pﬂh‘:ia
during the reign of

“Yogavmsistha”

2t I|.'|1||
Nizamuddin Panipat!

(a) Akbar
by Humayun
(e}  Shahjahan

{d) Aurangzeb

The world's second tallest statue in sitting
pose of Ramanuja was inaugurated by the
Prime Minister of India at Hyderabag
recently,. Which one of the following
statements correctly represents the teachings
of Ramanuja ?

(a) The best means of salvation was
devotion.

{(b) Vedas are eternal, self-existent and
wholly authoritative.

{c) Logical arguments were essential
means for the highest bliss.

(d) Salvation was to be obtained through

meditation.

The Prime Minister recently inaugurated the
new Circuit House near Somnath Temple at
Veraval. Which of the following statements
are correct regarding Somnath Temple ?

1. Somnath Temple is one of the Jyotirlinga

shrines.

2, A. description of Somnath Temple was
given by Al-Biruni.

3.

Fr'ra.n Pratishtha of
(installation of the p
was done by Presiden

Somnath Temple
resent day temple)
t S. Radhakrishnan,

1and 2 only
() 2and 3 anly
te) 1and 3 only
l,2and 3



47.

“Thllf-h one of the ﬁ:llowing Stﬂtﬂlnqntﬁ hEHt
describes the role of B cells and T cells in tha

a
human body

; tect the
I_n'l Th?"' prn

anvironmental allergens.

body from

) They alleviate the body’s pain and

inflammation.

They act a8 immunosuppressants in the

body.

(d) They protect the bedy from the diseases
| caused by pathogens.

Consider the following statements :

1. Other than those made by humans,
nanoparticles do not exist in nature,

2. Nanoparticles of some metallic oxides
are used in the manufacture of some
cosmetics,

3.

Nanoparticles of some  commercial

Products which enter the environment
are unsafe for humﬂ.ﬂ.ﬁ.

() 1 only
(b} g only
&8 1 and o
‘D 2angg

48,

ri {atements ;
Congider the following #

E 1 to:
DNA Barcoding ¢an he a too

1 agess the age of 8 plant or animg},
i a :

2 distingui:—;h amorng species  that 1001

alike.

3. identify undesirable animal or plag;

materials in pmuesserl foods.

Which of the statements given above is/are

correct 7

ia} 1 only
{b) 3 omly
(e} 1land2
(d) 2and3

Consider the following :

1.  Carbon monoxide
2.  Nitrogen oxide

3. Ozone

4. Sulphur dioxide

Excess of which of the above

environment is/are cause(s) of acid rain“':
(a) 1,2 and3

(b) 2 and 4 only

(e} 4 only

(d) 1,3 and4

the



51. wRapid Financing Instrument” ang “Rapid | 3. With reference 10 the Indiap CConeg
Credit Facility” .ar'E related to the Provisions ST following statements . ¥,
ﬂﬂ“ﬂdi“g £ s s o 1 If the in flation is too high, R‘f-%ﬂm

..n Development Banlk ' ﬂudk +f India (RBI) is likely tﬂlu;
2 government gecurities.
b 'ln‘LEt'TNii-iﬂN’.i Monetary Fund s VR ity et
(| United Nations Environment _ is likely to sell dollars in Jihﬂ malrkqt_
programme Finance Initiative n If interest rates in the USA Lllr LTJI“IJIEED
Union were to fall, that 1s likely tq
idl World Bank induce RBI to buy dollars.

Which of the statements given above are
correct 7

(a) 1 and 2 only

59. With reference to the Indian economy,

(b}  2and 3 only
consider the following statements :

(¢c) 1and3only
{  An increase in Nominal Effective

Exchange Rate (NEER) indicates the

appreciation of rupee.

(d) 1,2and3

9 An increase in the Real Effective |54 With reference to the “G20 Common

mprovement in trade competitiveness. HERE R
g : : 1. It is an initiative endorsed by the G20
- An increasing trend in domestic togethe : ]ﬂll t]: Paris Club et
e T Wi e Paris Club.
inflation relative to inflation in other
countries is likely to cause an increasing 2. Itis an initiative to support Low Income
divergonce hetwros NERE od REFH Countries with unsustainable debt.
Which of the ahgye statements are correct 7 WS P staoments gigen shovn iare
correct ?
L&) laﬂdzﬂ[ﬂ}r ':' :' 1 “1
fa 1) }r
Ab) ¢
2 H.i],d 3 Qﬂj}‘ I-l h-] 2 ﬂ'l].].}"
43 only (¢}  Both 1and?2
dj 1 o
and 3 id) Nﬂithﬂr 1 nor 2
VGYH-U-F{;T

(23-D)




With reference to the Indian economy, whyt By
the advantages of “]nﬂmm“-]ndawd

are 2%
Bonds (ITBe)" 2

can reduce

(:-._wn'l'j‘lmntﬂ the coupon

1. on ite borrowing by way of IR,

rates

11Bs prwjde protection to the investors
X )

from un pertainty regarding inflation.

The interest received as well as capital
3.

gains on 1IBs are not taxahle.

Which of the statements given above are
porrect 7

1 and 2 only

Lal

by Zandd only

f¢) 1land3only

idr 1,2and3

58.

With reference to foreign-owned e-commerce

firmz operating in India, which of the
following statements isfare correct 7

1. They can gell their own goods in

addition to offering their platforms as
market-places,

The degree to which they can own big

sellers on their platforms is limited.
Select the correct answer using the code given
below :
(a) 1 only
(b) 20 ly
¢} Both1andg
) Neither 1 nor 2

VGEYH-U-
i (26-D)

activities Conti,
"

Which of the following

L)
. 5 ||:'|}" I
real sector in the echbnort.

. i1 OTO
1.  Farmers harvesting ERRECEERS

i AW L0 :
2, Textile mills converting T ton ing,

fabrics
3 A commercial bank lending money tg 4
trading company

4, A tlﬂd}' 185N R‘I.J'E:n;!.-_\=

Denominated Bo nds overseas

corporate

Select the correct answer using the code given

below

(a) 1andZ2only
(b) 2,8and4only
(¢} 1,3 and 4 only
dd) 1,2,3and4

Which one of the following situations best
reﬂlects “Indirect Transfers” often talked
about in media recently with reference to
India 7

(a) An Indian company investing n a
foreign enterprise and paying taxes 1o
the foreign the

country on profits

arising out of its investment

(b) A foreign company investing in India

and paying taxes to the country of its

base on the profits arising out of its
mvestment

( An Indian company purchases tangible
assets in a foreign country and sells
such assets after their value increases
and transfers the proceeds to India

(d) A foreign company transfers shares and

such shares derive their substantial

value from assets located in India



=

—

£

9. With reference t
arganisﬁtim

followin

13

Expendi
ons

o the expenditure made by an
. or a company, which of the

g statements isfare correct ?

Acquiring new technology is - capital

Ewendit.urﬁ.

Debt financing is considered capital

ture, while equity financing is

dered revenue expenditure.

Select the correct answer using the code given

below :
' (a) lonmly
(b} 2only
(¢} Bothland2 |
{d) Neither 1 nor 2
60.

With reference to' the Indian ECOTLOMY,

consider the following statements -

1 I

A share of the household financial

SaVINgs  poes  towards government
Dated SeCurities issued at

market-related ratog in auctions form a

large component of internal debt.

<h of the aboye Statements is/are correct ?

(&}

(ki

Lonly
2 only

Both 1 ang 2

N'ﬂther al nor 2
VGYH-UFgr

Bal

61,

g ceops, WhiC ona iy g

Among the followid _
nt nnthl‘ﬂﬂﬂg‘amc source gf by

; ide 7
methane and nitrous 0%

mosl 1mporta

(a) Cotton

(b)  Rice

(e}  Sugarcane
id}  Wheat

“System of Rice [ntensification” of cultivation,
in which alternate wetting and drying of rice
fields is practised, results in :

1.  Reduced seed requirement

2.  Reduced methane production

3.  Reduced clectricity consumption

Select the correct answer using the code given
below :

{fa) 1and 2 only
(b} 2 and 3 only
(¢} 1and3only
(d 1,2and3

Which one of the following lakes of West

Africa has become dry and turned into a
desert ?

(a)  Lake Victoria
{b)  Lake Faguibine
(¢} Lake Oguta

(d) Lake Volia

Gandi?mntn canyon of South India was created
by which one of the following rivers ?

(a)  Cauvery

(b)  Manjira

fe)  Pennar

(d}  Tungabhadra




65. (onsider the following pairs : 8.
Peak Mountains
i Namcha Barwa — Garhwal ]-Ilima}a:,-a
g, Nanda Devi i IfLumLann E_ilmﬂlﬂ}'ﬂ
. Nokrek — Sikkim Himalaya
Which of the pairs given above is/are correctly
matched 7
) 1 and 2
(by 2only
{¢) land3
(d) 3only
66. The term «Levant” often heard in the news
roughly corresponds to which of the following
regions 7 a9,
(a) Region along the eastern Mediterranean
shores
(b} Region along North African shores
stretching from Egypt to Morocco
{c] Region along Persian Gulf and Horn of
Africa
{d) The entire coastal areas  of
Mediterranean Sea 70.
67. Consider the following countries -
L. Azerbaijan
2. Kyrgyzetan
3. Tajikistan
A Toiimenistar
5. Ushekistan
E;::m:tint?e above have borders with
la) 19 and § only
i
(d) 11 2 ":d R
'% 4,4 and
VGYH-U-FgT
(26 -D)

With reference to 1

dia, consider the fuuﬂ,w.m

B

statoments

1.
2,
v

4,

5 TE B
Monazite is a BOULEE of rare earthg

Monagzite contains thﬂrium..

Monazite occurs nattfrall;.r in the. entig,
Indian coastal sands 10 India.

In India, Government !:mdie_g. only can
process or export monazite.

Which of the statements EIVen above are

correct ¥

(a)
(h)
(e}
(d)

1, 2 and 3 only
1, 2 and 4 only
3 and 4 only
1,2, 3 and 4

In the northern hemisphere, the longest day

of the year normally occurs in the :

Aa)

ib)
e}
id)

First half of the month of June
Second half of the month of June
First half of the month of July
Second half of the month of July

Consider the following pairs :

Wetland ! Lake Location
1. Hokera Wetland — Punjab
2. Renuka Wetland — Himachal Pradesh
3. Rudrasagar Lake — Tripura
4 ‘i:it:]lamkutta — Tamil Nadu
Ir'lf:::ch;&;y Pairs given above are correctly
(a)  Only one pair
tb)  Only two pairs
(e}  Only three pairs
(d)  All four pairs




Consider the following statements :

a1. T3

{, Pursuant to the report of H.N, Sanyal

‘ (Committee, the Contempt of Courts Act,
1971 was passed.

; The Constitution of India empowers the
2. gupreme Court and the High Courts to
!-.uniﬁh for contempt of themselves,

o The Constitution of India defines Ciwvil

3. Contempt and Criminal Contempt.

4 In India, the Parliament is vested with

: e it make laws on Contempt
of Court.

Which of the statements given above is/are

correct

{a) land2only

(b) 1,2end4

{¢) Jandd4only

(d) 3only

72.  With reference to India, consider the following 74
slatements :

1. Government law officers and legal firms
are  recognised as  advocates, but
rorporate lawyers and patent attorneys
Z:m:::“d‘ad from recognition as

2. Bar :

s C'}T‘mmlg have the power to lay
I . I"hE rules relating to legal
Ucation and recogmiti
gnition of law
mllﬂg‘gg.

Which of the

Srei b Statements given above is/are

lok
Both 1 apg o

(d) :

(31-D)

] atements :
Consider the following i

Gnngmm.mn

1. A hill ~mmendation
requires a prior recom of the

President of India:
I f A_[I]El'l dment Ein A
2 z G:m&tltutmn Bl
When a he P'I'Esident of India, it i

] to t ;
presentec the President of India ¢,

obligatory for
give his/her assent.

3. A Constitution Amendment Bill must be
passed by both the Lok Sabha and the

Rajya Sabha by 2 gpecial majority and
there is no provision for joint sitling.

Which of the statements given above are
correct 7

(a)
(b)

1 and 2 only
2 and 3 only
{c) 1land3only

(d) 1,2and3

Consider the following statements :

1B The Constitution of India classifies the
ministers into four ranks viz. Cabinet
Minister, Minister of State with

Independent Charge, Minister of State
and Deputy Minister.

The total number of ministers in the
Union Government, including the Prime
Minister, shall not exceed 15 percent of

the total number of members in the Lok
Sabha.

Which of
correct ?

(a)
(h)

the statements given above is/are

1 only
2 only
(¢) Both 1and 2

(d)  Neither 1 nor 2



which of the following isfare (he
\ ' BRelugive

powert 5} of Lok Sabha ?

To ratify the declaration of Emerge
noy

3 To pass a motwon of no-confidence

against the Counecil of Ministers
o Mo impeach the President of India

the correct answer using the code given

Splect

below .
e and 2
b 2 onl¥
() 1land3d
(d) 3only

76. With reference to anti-defection law n India,
consider the following statements :

1 The law specifies that a nominated
legislator cannot join any political party

within six months of being appointed to
the House,

4]

The law does mnot provide any

time-frame within which the presiding
officer hae to decide a defection case.

Which of the statements given above isfare

correct 7

{a) 1only

(b) 2 only

(e} Both1and 2
(d)

7.

78.

NEi'Lhr;]- 1 nor 2

r

2. Aceording to the co

(33-D)

[ iTiER atptements

f India and S

oneider the fol

i .l €
Attorney Gentt i i i 'y

t o oapa tOE OIY Offe,
Gereral of [ndia &F F““'L

who are alloweg
tey

the Government .
the meelinga  of

participate 10 L™

Parliament of Tndia.
patitution of Inedi,

the Attorney (eneral of India submis
hi.i-‘. l‘EE'-il-.{nn.ﬂUn wh:-![] T.ht! G“"-’Hl‘mumm

which ap]:u:i.nt,ed him resigne.

Which of the statements given above iafare

correct ?

(a) 1 only

(b) 2only

(¢) Both1land2

{d) Neither 1 nor 2 -

With reference to the writs jssued by the

Courts in India, consider the following
statements :
1. Mandamus will not lie against a private

prganisation unless it is entrusted with
a public duty.

9 Mandamus will not lie against a
Company even though it may be a
Government Company.

3.  Any public minded person can be a
petitioner to move the Court to obtain
the writ of Quo Warranto.

Which of the statements given above are
correct 7

{a) 1and?2 only
(b} 2and 3 only
{c) 1and 3 only
(d) 1,2and3




15. Which of the following isfare the exclusive
pm‘,pﬂs‘l of Lok Sabha 7
1 To ratify the declaration of Emergency
5 To pass a motion of no-confidence

i ﬂgﬂ]nsi tl'.ﬂ CD““CI] nf T'r"linish.-.rs

q To ilTlP'?a':h the President of India

oo e orrect answer using the code given

helow :

'.,ﬂl! 1 ﬂ_ﬂd 2

(bt 2only

ic) 1 .E.'ﬂd 3

(d) Jonly

76, With reference to anti-defection law in India,
consider the following statements

. The law specifies that a nominated
legislator cannot join any political party
within six months of being appointed to
the House.

2. The law does not provide any
time-frame within which the presiding
officer has to decide a defection case.

Which of the statements given above is/are

correct 7

iﬂr 1 1}“1:’.

b} =2 only

¢} Both and 2

[d :

] Nﬂlﬂ'l_&r 1 nor 2
".I’GYH-U-FGT

(38 =)

T7.

8.

Conaider the followin

1,

Which of the statements

atementa |
4 stats

4 and ®.:
Attorney ”“"-“T“II gf Anais ARG "'ﬂ*"—Lmr

‘ e only offise
General of [ndia are th Loy o
i 5
the '_}I‘NL‘-I’TII'I"I{".'T!I{ W

the

o are alloway e

meetings

i of :
participate in hs

Parliament of India-

According to the Constitution of India,
coorol .

the Attorney General of
[k th&' nﬁ"."ernin’ent

India submits

his resignation whie .
which appeinted him resigns.

given above 18/are

correct ?

(2) 1 only

(b) 2 only

(¢) BothlandZ2
(d)

With reference to the writs

Neither 1 nor 2 -

issued by the

Courts in India, consider the following
statements :
1.- Mandamus will not lie against a private

organisation unless it is entrusted with

a public duty.

Mandamus will not lie against a
Company even though it may be a
Government Company.

Any public minded person can be &

petitioner to move the Court to obtain
the writ of Quo Warranto.

Which of the statements given above are

correct 7

(a) 1and2only
{b) 2and 3 only
(e} 1and 3 only
(d) 1,2and3




e —

Sabha, consider the following statements :

1. As per the Rules of Procedure and
Conduct of Business in Lok Sabha, the

election of Deputy Speaker shall be held
on such date as the Speaker may fix.

2. There is 2 mandatory provision that the
election of a candidate as Deputy
Slpeak?r of Lok Sabha shall be from
either '_d:ne principal Opposition party or
the ruling party,

] 79 with reference to Ayushman Bha rat Digital | g1 e A ,ﬁackérﬂ which monitop, the
L e 14 cl1 .

. Mission, consider the following statements - S e T pledges of dlﬂmm
1. Private and public hospitals musi adopt it ooiritries ia E;

' . ' : - 188 158 4.
5 As it aims to achieve universa] health .4 by coalition of
2 Coverage, every citizen of India shoulg be {a) Datahase ure.ﬂtl,. 4 3

' part of it ultimately. research organisations 2 Gl

3 K. £ n -
3. It has seamless portability across the ~ (b) Wing of “International Pane IMate
- country. ; Ghange”
Which of the statements given above is/are © C ittee under “United Nationg
ormmi g
correct ” Framework Convention
(a) 1 and 2 Uﬂll"r GhHﬂgE"
Ib | H ﬂn]-]lr {d] ﬁgﬂnﬂ}' Prﬂmﬂtﬂd and ﬁﬂ.ﬂﬂ(:Ed b}f
(¢) 1and3only United Nations Environment
(d) 1,2andd Programme and World Bank
82. Consider the following statements :
B0. With reference to Deputy Speaker of Lok

1. “The Climate Group” is an international
non-profit organization that drives
climate action by building large
networks and runs them.

2. The International Energy Agency in
partnership with the Climate Group
launched a global initiative “EP100”,

3.  EP100  brings together  leading
companies  committed to driving

4.  The Deputy Speaker has the same innovation in energy efficiency and
Ef:r&[r, ;j of the Speaker when presiding increasing competitiveness while
el lie.:latél:'g url"ﬁ the House and no delivering on emission reduction goals,

MSL hig rulings '

4 The well : e 4. Some Indian tompanies are members of
s established parliamentary EP100 i
Deputy S"E akr:'ﬂg the appointment of ]

Peaker is that the motion is 5 Th
moved ~ ¢ International Energy Age
Seonded I:."r' the _Speakler and duly S.enretgriat to the “T7 ﬂ.ty e
Which ¥ the Prime Minister. ® “Under2 Coalition”
1 af ' ;

Correct 7 the Blatements Biven above are ;’I::; :’f the statementsg given ahove are

{ 7

) langg only () 1,2 4angs

i

B 39404 3 (b) 1,3 and 4 onyy

(&) 3 and 4 'Lllfll!,r ie) 2, 4 and 5 ﬂn]}-

-

d) o and 4 gply d) 1,2,8 4an45

”G*H-UJ—'GT

(35—

D)



B3. “If rainforesis and tropical forests are |
[UDESI 7 th.! EHT“L e surely Wotlands
function as its kidneys. Which opne of the
following functions of wetlands begy reflacts
the above statemant ?

(a) The water cvele in wetlandg involyes
surface runoff, suhspi] Percolation and
evaporation,

(b) Algae form the nutrient bage upon
which fish, crustaceans, molluses, birds,
reptiles and mammals thrive,

(¢ Wetlands play a vital role ip
maintaining sedimentation balance and
soil stabilization.

id) Aquatic plants absorbh heavy metals and
excess nutrients.

84. In the context of WHO Air Quality
Guidelines, coneider the following |
statements :

1. The 24-hour mean of PM, . should not
exceed 15 pg/m® and annual mean of
FM, . should not exceed 5 pg/m®,

2. In a year, the highest levels of ozone
pollution occur during the periods of
inclement weather.

8. PMy, can Penetrate the lung barrier
and enter the bloodstream,

4. Exmﬂﬂj‘i'ﬁ ozone in thE air AR h'ig'ger
asthma,

Which of the statements given above are

torrect ?

(@) 13 and 4

fe) 2,3and 4

d 1 and 2 only

Bn,

BT,

(37-D)

wGuechi” SO0ML i,

With to

reference i
{ g, consider the
Mentioned in the newa, &

foll i Tige

Btatementy -

L Itis a fungus. i
. ors :
2. It grows in some Himalaya FHe00 Areas,

Iy cultivated in gy,

3 It is commercia =
Himalayan foothills of north-saster,
India.

whj(‘.h of the statements E—iw,.lel"l above 1!-'_'."Hr|_=_¢
correct ¥

(a) 1 only
(b] 3 only
e} land?2
(dl  2and3

With reference to polyethylene terephthalate,

the usze of which is so widespread in our daily

lives, consider the following statements ;

1. Its fibres can be blended with wool and
cotton fibres to reinforece their properties.

2. Containers made of it can be used to
store any alcoholic beverage.

4.  Bottles made of it can he recycled into
other products.

4. Articles made of it can be easily disposed
of by incineration without causing
greenhouse gas emissions,

Which of the statements given above are
correct 7

(a)  land 3
(b) 2Zand4
(c) 1landd4
(d) Z2and3

Which of the following is no# 5 bird ?
(a) Guolden Mahseer

(b}  Indian Nightjar

{c)  Spoonbill

(d)  White Ihis




B8. Which of the following are nit Togen-fixing
plants ?
1 Alfalfa
2 Amaranth
3 Chickpea
4. Clover
5. Purslane (Kulfa)
L g. Spinach
Select the correct answer using the code given
below :
{a) 1,3and4only
{b) 1,3, 5and 6 only
(¢) 2,4, 5and6 only
id) 1,24, 5and G
89. “Biorock technology” is talked about in which
one of the following situations ?
= {a) Restoration of damaged coral reefs
(b) Development of building materials
2 using plant residues
{t) Tdentification of areas for
= exploration/extraction of shale gas
(d) Providing salt licks for wild animals in
foresta/protected areas
& sHe
a 90. The "Miyawaki method” is well known for
the
{a) i : F
a)  Promotion of commercia] farming in
arid and semj-grig areas
ih) Development of pgardens using
genetically modifieq flora
(e}  Creaty -
realion of min forests in urban areas
d H : :
arvesting  wing energy on coastal
a
"848 and on seq gurfaces
VGYH-U-FGT

(39-D)

21.

Congider the following -
L. Aarogya Setil

. CoWIN

3.  DigiLocker

4. DIKSHA

Which of the above are puilt on top of

7
open-source digital platforms :

(a) 1and?2only
(b) 2,3 and 4 only
c) 1,3and4only
(d) 1,2 8and4

With reference to Web 30, consider the
following statements :

1. Web 3:0 technology enables people to
control their own data.

2. In Web 30 world, there ecan he
blockchain based social networks.

3.  Web 3-0 is operated by users collectively
rather than a corporation.

Which of the statements given above are
correct 7

1 and 2 only

(a)

(b) 2and 3 only
(e) 1and 3 only
(dj 1,Zand3




g3. With reference to “Software
SaaS)”, consider the %% n Service | gy
(SaaS)", consider the following statemeny, . i
SaaS buyers ¢ .
1 j‘iaw JUYers can customise (he -
interface and can change data fie)gs
g Saas unr-rf: can  access their 3l
through their mobile devices,
3 Outlook, Hotmail and Yahoo! Mail are
forms of SaaS.
m!-

Which of the statements given above are

correct 7

(a) 1and 2 only

(b) 2and3only

(cl 1 and 3 only

(d) 1,2and3

94, Which one of the following statements best
reflects the idea behind the “Fractional

Orbital Bombardment System” often talked

about in media ? 97.

(a) A hypersonic missile is launched into
space to counter the asteroid
approaching the Earth and explode it in
space.

{h) A spacecraft lands on another planet
after making several orbital motions,

(¢) A missile is put into a stable orbit
around the Earth and deorbits over a
target on the Earth.

(d) A spacecraft moves along a comet with
the same speed and places a probe on its
surface.

VGYH-U-FGT (41-D)

ing 18 the cotitegy i

Which one of the folloW ed T

: g tiomn
which the term “qubit js men

() Cloud Services

(B)  Quantum Computing

(£} Visible Light Communication
Technologics

(d)  Wirelegs l:'fmnmu""-'-g-tiﬂ“ Technologies

Congider the following communication

technologies :

L Closed-circuit Television

2. Radio Frequency Identification

3. Wireless Local Area MNetwork

Which of the above are considered
Short-Range devices/technologies T

(a) 1and2only

(b} 2 and 3 only

(e) 1land3aonly

(d) 1,2and3

Consider the following statements :
1. Biofilms can form on medical implants

within human tissues.

2. Biofilms can form on food and food
processing surfaces.

3. Biofilms can exhibit antibiotic
resistance,

Which of the statements given above are
correct ?

(a) 1and 2 only
(b) 2and 3 only
(e} 1and3 only
(d) 1,2and3




Y T

consider the following statements ip
L L ; TEg e
of probiotics : Pect | 100. 1f & mpjor solar

A : . . foll
: Probiotica ave made of both bastest Earth, which of the follao
veast. eria and effects on the Earth *

) Teach
__ (golar flare Ty o
gtorm & 3 L,

wing are the poygy,

The organisms in probiotics are found in yatems could fag

foods we ingest but they
paturally occur in our gut, I

v

1. GPS and navigation
du nntl
4 occur at  equatoriy

joti : 2. Ta g poul
3.  Probiotics help in the digestion of milk Tsunamis €0
sugars. regions.
which of the statements given above is/ - el
are p « 1o could be dam
correct 7 3.  Power grids c0
el 4, Intense auroTas could occur OVEL much
m) 2 U of the Earth.
¢y land3
5. Forest fires could take place Over much
(d) 2and3

of the planet.

6.  Orbits of the satellites could be

g9, In the context of vaccines manufactured to
disturbed.

prevent COVID-19 pandemic, consider the

following statements : s
7 Shortwave radio communication of the

1 The Serum Institute of India produced sireraft flying over polar cesrinna oA
COVID-19 vaccine named Covishield i %
using mRNA platform. be interrupted.

2. Sputnik V vaccine is manufactured using

vector based platform. Select the correct answer using the code given

helow :
3. COVAXIN is an inactivated pathogen

based vaccine.
(a) 1,2,4and5only

Which of the statements given above are

torrect ?

; (by 2,3,5,6and 7

2l 1and 2 only il

fb)

2 and 3 only (e) 1,3,4,6and 7 only

) 1and 3 only

[dl,'l l,za_uda (d) 1: 21314.5,Ea11d?
“GYH‘UJFGT
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